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1. Plague is a disease caused by
(A) Mosquito
(B) Rats
(C) Bats
(D) Birds

2. “Anandamath” was written by
(A) Bankim Chandra Chattetjee
(B) Sarat Chandra Chatterjee
(C) Rabindranath Tagore
(D) Rashbehari Bose

3. The First Speaker of the India Constituent
Assembly had been

(A) G. H, Deshmukh
- (B) Hukum Singh

(C) Swaran Singh

(D) G. V. Mavalankar

4. Two pipes A and B can fill a tank in
15 minutes and 20 minutes respectively. Both the
pipes are open together. But after 4 minutes pipe
A is turned off. What is the total time required to
fill the tank?
(A) 10 min. 40 sec.
(B) 11 min. 45 sec.
(C) 12 min. 30 sec.
(D) 14 min. 40 sec.

5. Rajuand Param starta journey. Rajumoves -

northwards at a speed of 20 km/hr and Param
moves southwards at a speed of 30 km/hr. How far
will be Param from Raju after 60 minutes?

(A) 24 km
(B) 50 km
(C) 42km
(D) 30km

N

1. c2io FINKE o1 et =
(A) =
(B) Fa
(C) AT
D) iR

2, ‘SIS G TP
(A) TRNbE SO
(B) *5e5% BRI
(C) TN oI
(D) FFIf=IA 27,

3. orRdiw MR ToI 24 TG B
(A) & 9%, oy
B) T fir
(©) =4 fAgg
(D) f&. fS. Trermn

4. b 2 A 3R B 6 o117 7Ure 15 BEG
438 20 TG ©fF T3 2t | Ty« g™

'mnmm%mﬁﬁﬁmmﬁﬁwww \SrEfe

©fS 200 F© o AN ?
(A) 10 TG 40 olFs
B) 11 fF0 45 ciws
(C) 12 f3fS5 30 G
(D) 14 RfE 40 ciers

5. A 8 v Al oF T | 915 20 B/5!
(051 Ta Twess @R~ 30 663/ 9551 st v fice
TN | 60 TG 4% A1 (0T o1 T Y U 2

(A) 24 Bfw
(B) 50 &
(C) 42 &/
(D) 30 =R
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6. The average of 50 numbers is 28. If two
numbers, namely 25 and 35 are discarded, then the
average of the remaining numbers is nearly

(A) 2729
(B) 27-92
(C) 2927
(D) 29-72

7. If Rs. 1,000 becomes Rs. 1,400.in 4 years,
then find the rate of interest.

(A) 10%
(B) 5%
(©) 15%
D) 25%

8. The First Woman Ruler to sit on the throne
of Delhi had been

(A) Abeda
(B) Zubeida
(C) Rokeya
(D) Razia

9. The Chief Justice of the Supreme Court of
India is appointed by the

(A) Prime Minister of India -
(B) President of India

(C) Vice-President of India
(D) Lok Sabha '

10. Two numbers are in the ratio 3 : 5. If each

number is increased by 10, the ratio becomes 5 : 7.
The numbers are

(A) 3,5
®) 7,9
(C) 13,22
(D) 15,25

A-3
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6. 50 TG >iepia o1@ 28 | 30 G P!, @ 25
@R 35 A (8Tl TW, O TG AR 4T
(aiim) TS 7

(A) 27-29
(B) 27-92
(C) 29-27
(D) 29-72

7. 3 TS oIt W 4 A 1,000
1,400 BRR TR ¢
(A) 10%

(B) 5%

©) 15%

D) 25%

8. =A% wRat =ivie R e Picse sem—
(A) St
(B) Gl
(C) Gl
(D) =iferm

L

0. S AR S et R Fre
P

(A) SINCo 24T
(B) ©rod ga©
(C) oITed S=iagaf®
(D) Gt

10, {5 YT Sigstie 3 : 51 TRt Afel wpies 10
TRt 3 1 T, IR St 5 ; 7 R IR 2=
(A) 3,5
(B) 7,9
(€) 13,22 -
(D) 15,25
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11) Pragyan is associated with
(A) Missile Technology
(B) Space Research
(C) Oceanography
(D) Climate

12. A, B and Cinvested Rs, 26,000, Rs. 34,000
and Rs. 10,000 respectively in a business. At the
end of the year, they earn a profit of Rs. 3,500,
B’s share of profit is

(A) Rs. 1,200
(B) Rs. 1,500
(C) Rs. 1,700
(D) Rs. 1,900

* 13. Polio is caused by
‘ (A) Bacteriq
(B) Virus
(C) Anti-biotic ©
(D) Medicine T

pu—y
[—y

14. Find the L.C.M. of %

\o] [+]
N

(A) 280
(B) 360
(C) 440
(D) 420

is
(A) Australia
(B) Canada
(C) Brazil
(D) India

15. ThePrcsidentoftfxeG-ZOGroupofcountrics

11. ‘g7 AiF @ AR Rews @
q@_
(A) CFoiY afe
@) = Ream
(©) g R
(D) wi=gied

v
I

!

12. 3TN A, B G CIUBP 26,0005,
34,000 51t @3R 10,000 Brnt RfFzast e | =g
(I O 3 SOOWWWIB-QHWW”“T@!

(A) 1,200 Bt
(B) 1,500 Gt
(C) 1,700 Siset
D) 1,900 Brwt

13. colifere catei-a3 Trad T
(A) T
(B) ©IgaM
(C) =pifS-aces
(D) €3y

58 11
315 g S A, dfa =t

(A) 280
(B) 360
(C) 440
(D) 420

14,

15. G-20 CBigE G Teiwfe 5%
(A) gl

- (B) MM
(C) qlie=
(D) ©fe
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16. By selling 100 pencils, a shopkeeper gains
the selling price of 20 pencils. His gain per cent is
(A) 25%
(B) 20%
(C) 15%
(D) 12%

17 A boat covers a distance of 30 km in
2— hours running downstream. Wh1le returning,
it covers the same distance in 3— hours. What is

the speed of the boat in still water?
(A) 8 km/hr
(B) 12 km/hr
(C) 15 km/hr
(D) None of the above

18. The authorof “The Story of My Experiments
with Truth” had been

(A) Netaji Subhas Chandra Bose
(B) Gopal Krishna Gokhale

(C) Mahatma Gandhi

(D) Aurobindo Ghosh

19. Who was known as Alamgir?
(A) Shah Jahan
(B) Jahangir
(C) Aurangzeb
(D) Akbar

20. Incomes of A, B and C are in the ratio
7 :9:12 and their expenditures are in the ratio
8:9: 15.IfA’ssavingis % of his income, then the
ratio of savings of A, B and Cis
(A) 56:99:69
(B) 99:56:69
(C) 69:56:99
(D) 99:69: 56

A-5
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16. 1007 c=ifSmt & v «Fem @i 200
. (oA Rfdra Sp oire 0 | O Ficed XIoie 2
(A) 25%
B) 20%
© 15%
D) 12%

17. mwaﬁ@W2 a@wsoﬁsﬁ
Wwﬁwmlmﬁmuﬂﬁm 3— LR
WW|%WWW61W?

(A) 8 /e
(B) 12 f&hi/<Bt
(C) 15 /=6t
(D) ©oitaR @IoE 7

18. “The Story of My Experiments with Truth”
SCERCEC REIGT

(A) oI JerpE 37
(B) CtilleT 538 (TS
(©) TR AR
(D) waf= (@R

19. SEAE el & oififoe Eme
(A) I TR
(B) =R
(C) STHEA
(D) ST

20. A, B 9% C-9F SIET TS 7:9: 12
IR ST A SIS 8 = 9 : 1517 A i e
+ Ol I T, O A, B 4R C~G7 T
THAIS TG 2

(A) 56:99:69
(B) 99:56:69
(C) 69:56:99
(D) 99:69: 56
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21, There are three full containers of mixture of
milk and water and their volumes are in the ratio
7:5:13. The milk and water ratio in these
containersis2 : 3,47 : 53 and 9 : 11 respectively.
If these are mixed together, find the ratio of milk
and water in the new mixture,

(A) 11: 14
(B) 14:17
© 9:16
D) 12:13

22. The First Vice-President of Independent
India had been

(A) C.Rajagopalachari

(B) Dr. Zakir Hussain

(C) Dr. S. Radhakrishnan

(D) Maulana Abul Kalam Azad

23, If

-2
oo
Lhlw

,thenthevalueofa: b: cis

a

3= 5"
(A) 7:9:15
B) 7:9:5

L (©) 21:35:45

D) 7:3:15

24. Who said, “Swaraj is my birthright™?
(A) Gandhi
(B) Nehru
(C) Tilak
(D) Gokhale

25. fa:rb=3:5andb:c=7:8, then
2a:3b:7cisequal to
(A) 42:105:280
B) 15:21:40 -
(C) 6:15:40
(D) 30:21:350

A-6

21. 749 TR e Fomib ool ot g @<
SITTE SIS SFAIS 7 2 5 : 13 1 92 Awafens 7y
TR G S PANS AAGFT 2 1 3,47 : 53939 : 11
qafe a3y e e wgw e 54 e weg
weite el et |

(A) 11:14
(B) 14:17
(€ 9:16
D) 12:13

22. TR OI0ea A Sogeife R
(A) B a=siFEsE
(B) ©. wifeIREH
(C) ©. @7 FFRw
(D) G SIIYET eI SAren

23, —=— —=%§Cﬂ,a:b:c-@§‘ﬂ1ﬂ¢‘€?
"(A) 7:9:15
B) 7:9:5
(C) 21:35:45
(D) 7:3:15

24, “FIE R TrATS SR 3 SR P 2
(A) R
(B) iz
(C) foem
(D) cotteT

25. Wa:b=3:59Rb:c=7:8 T, OgH
2a:3b:T7c TS EYI?
(A) 42:105:280
(B) 15:21:40
(C) 6:15:40
(D) 30:21:350
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26. Sushil was thrice as old as Snehal 6 years
back. Sushil will be % times as old as Snehal

6 years hence. How old is Snehal now?
© (A) 12 years
(B) 15 years
(C) 18 years
(D) 24 years

27 The compound interest on Rs. 20,480 at

6 9% per annum for 2 years and 73 days is

(A) Rs. 3,000
(B) Rs. 3,131
(C) Rs. 2,929
(D) Rs. 3,636

If7:x =175 : 22-5, then the value of x is
(A) 6

(B) 8

C 12

D) 9

28.

29. Dr. Meghnad Saha was a famous
(A) Mathematician '
(B) Physicist
(C) Chemist
™ DoE:tor

,then whaf is the value of x?

18
17
21
17
13
17 '
12
17

(A)
" ®)
©
D)

AMRI22

26, 6 TR THTTNCETE T8 G IETE 384
2711 6 T8 47 AT I CRRIETE O™ % o
A | (RIETR IO I3 92 '

(A) 12323
(B) 15 <=
(©) 183
(D) 24 I%K

27 20,480 B1evia SR 2 327 73 e wey AT
6= %mmﬁaﬁﬂ
(A) 3,000 5=
(B) 3,131 Biwt
(C) 2,929 it
(D) 3,636 5=

28, M7 :x=17-5: 225, OTFA x- AT FO?
- (A) 6
(B) 8

©) 12
(D) 9

29, KS"(.ﬂ‘c‘JﬂTﬁ‘lTﬁfiﬁﬂﬂWﬁW
(A) siffes
(B) “widfm
(C) TIEm
(D) el

30. AW 2=x+

11 T, OIEE 147 WK T 7
1+——
341
"3
18
17
21
17
13
17
12

17

(A)
B)
©)
)
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31. A man walks 1 km on Ist day, 2 km on 2nd
day, 3 km on 3rd day and so on. The total distance
the man covers in 10 days is

(A) 40 km
(B) 50 km
(C) 55km
@) 58 km

32. ‘Sasanka was the King of
(A) South India
(B) Gujarat
(C) Gaur
(D) Malbhum

33. Find the value of:

(243)% x 320+l
(A) 9

(B) 3*

(C) 3n-1

(D) 27

34. A and B can do a piece of work in 12 days;
B and C candoiitin 15 days; C and A cando it in
20 days. A alone can do the work in

(A) 15% days

(B) 24 days
(C) 30 days
(D) 40 days

35. Pisfasterthan Q.Pand Q each walk 24 km.
The sum of their speeds is 7 km/hr and the sum of
times taken by them is 14 hours. Then P’s speed is
equal to T

(A) 3 km/hr
(B) 4 km/hr
(© 5 kmv/hr
(D) 6 kmvhr

A-8

31. g TR 2w o 1 7R, R e 2 R\,
wor fitee 3 Refit 2o 35 1 el 10 Fm il e
Y SfeT T2

(A) 40 B3R

(B) 50 ™

(C) 55 R

(D) 58 BB )
32, =M% (@ ST €T e GG &=

(A) 7 SiFe

(B) weEiG

(C) ¢

(D)’ et

. 33, I fefa e ¢
(243)% x 32041
ot x 371
(A) 9
(B) 3"
© 3
(D) 27

34. A 93 B 9F6 i 12 e 3909 #iie; B @
C 15 WG; C @38 A 20 e w409 A | A G 63

(A) 15% fim

(B) 24 =
(C) 30 =
(D) 40 fe

35. P, Q99 5@ @S W P @2 Q Tewz
24 R 2B | it «ifew peiwe 7 Bl a%t @32
Ol (TGN IR (41 14 9951 | SIRTE P-4 if%
T 9

(A) 3 FRy/ast
(B) 4 ffi/a%t
(C) 5 Tfsi/oe%r
D) 6 Rfi/a%r




36, Acharya Jagadish Chandra Bose was a

famous
" (A) Singer
(B) Poet
(C) Scientist
(D) Politician

37. The average of 15 numbers is 7. Out of °

them the average of first 8 numbersis 6-5 and the
average of last 8 numbers is 9-5. The middle
number is

(A) 21
(B) 22
(C) 23
(D) 24

38. The First Battle of Tarain took place in
(A) 1192 AD.
(B) 1191 A.D.
(C) 1205 AD.
(D) 1206 A.D.

39, The Akbar Namah was written by
(A) Abdul Hamid
(B) Faizi
(C) Abul Fazl
(D) Firoz Shah Tuglaq

40, Plants manufacture food through |
(A) Photosynthesis |
(B) Respiration
(C) Transpiration
(D) Evaporation

A9 | AMRIZ2

36. oI welR 5 3% T e Rre:
(A) T ' o
B) IR
© R@m
D) FHASS Tl

37, 15 BRI T 7 |G AN § B AT
519 65 432 4R 8 1B F1UIF 91T 9-5 | R FRAnB 2=
(A) 21
(B) 22
© 23
(D) 24

38, GRRRA-GF AL JCRF A
(A) 1192
(B) 1191
(C) 1205
(D) 1206

39, e AT TR BE
L W) arE R
B) =R
(C) oA T
(D) Frte =iz guaie

oy 1oy

N N

41—).?11@?1 mﬁr«%vmmﬁﬁﬁﬂ@ ARrE -
(A) FEFRER
(B) Sfewa
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41. The Aihole Prasasti is associated with
(A) Samudragupta
(B) Vishnugupta
(C) Pulekeshin IT
(D) Rajendra Chola

42. Water is composed of
(A) Hydrogen and Ozone
(B) Hydrogen and Oxygen
{C) Nitrogen and Oxygen
(D) Chlorine and Oxygen

43. Which one among the following is the
largest?

(A)
B)
©

b el v o

(D)

44. The difference between compound and
simple interest on Rs. 8,000 at 5% p.a. for 3 years is
(A) Rs.50 - '

(B) Rs. 60
(C) Rs. 61
(D) Rs. 600

.or,

45. Paradeep port is locatedin - - . -
(A) Lakshadweep
(B) West Bengal -
(C) Odisha -
(D) Tamilnadu.

A-10

41, =iz o I it 1@
(A) TgeY
B) Rpay
(© fad sfwhia
(D). T (Sle

42, T4 9 IeET Ghe wie—
(A) VAGIEH 93 ST
(B) 2RGIEH 9. w¥nem
(C) ARGITEw @ Sfem
(D) &= xR wifdnew

43: FrefRe el mE ww e ¢
(A)
(B)
©
(D)

il 00]-d & 3] on

44. 3 AT TT 5% AT Y@ 8,000 B

berqa R R, IR A N ALy
(A) 50%m= ‘
(B) 60 Bt
(C) 61%=
(D) 600 Bt

45. SRRl T @A S fFo—
(A) =R
(B) =ifow
(C) efem
(D) iy




46. The Indian National Congress was founded
in the year .
(A) 1883
(B) 1884
(C) 1885
(D) 1886

47. BRICS relates to
(A) Group of Countries
(B) Chambers of Commerce
(C) Political Parties
(D) NGO

48. Find the value of:
N S S
I1x2 2x3 3x4 77 9x10
1
(A) 0

® -

© 1
(D) 10

49. A bus travels first half distance between
two places with a speed of 40 km/hr and the
rest half distance with a speed of 60 km/hr. The
average speed of the bus is

(A) 42 km/hr
(B) 50 km/hr
(C) 46 km/hr
(D) 48 km/hr -

50. Ram and Shyam together can finish a job
in 8 days. Ram can do the same job on his own in
12 days. How long will Shyam take to do the job
by himself?

(A) 16 days
(B) 20 days
(C) 24 days
(D) 30 days

A-11 AMRI22 -

46. SIATST GO AT A T @ AE—
(A) 1883
(B) 1884
(C) 1885
(D) 1886

47. BRICS =&
(A) TR CId)
(B) FF g
(C) AT WA
(D) CREITAST CoNrdt

48. WA 7T T
1 1 1 1

x2 T 2x3 T 3xa v T oxio

(A)

e S|~

®)
©
(D) 10

P
[=]

49. < T A TEAN MY AL ST 77
40 e/t sifSre waR A ST e 60 [FR/aH
sifere SfSaw T | AFE AT oifc Fo?

‘(A) 42 RR/=H
(B) 50 =R/l
(C) 46 RfEi/=ol
(D) 48 fFi/a<st

50. e ¥ 9 § it 93l Siet g FETe
A 1205 e 9% U3 I 12 T 209 AAIE | <
T FEh FA0e FOMA ANT HE?

(A) 16 fa=
(B) 20f=
(C) 24 =
(D) 30 f=
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51. The Battle of Plassey was fought between
(A) Mir Qasim and Mir Jafar

(B) Siraj-ud-Daulah and the English East
India Company

(C) Mir Jafar and the French
(D) Shah Alam and the English

52. Apipe can fill a tank in x hours and another
pipe can empty it in y (y > x) hours. If both the

pipes are open, in how many hours will the tank be
filled?

(A) (x-y)hours
@B) (v~ ) hours
©) =

x=y
(D)

hours

Y—x hours

53. The ages of Samir and Tanuja are in the
ratio 8: 15. After 9 years the ratio of their ages will
be 11 : 18. What is the difference between their
ages?

(A) 20 years
(B) 21 years
(C) 24 years
(D) 33 years -

54. The speed of a car increases by 2 km after
every one hour. If the distance travelling in the first
one hour was 35 km, what was the total distance
travelled in 12 hours?

(A) 456 km
(B) 482 km
(C) 552 km
(D) 556 km

A-12

51. ~=1E 3TEe T effowa fegew
(A) Tg ifmw e g o
(B) Frae-8v-(iwl ¢ e o5, 3w
- @A !
(©) 7 T e T
(D) *iIZ STy 8 3ES

52, <5 #1125 x 9B G0 BIE {99 TS ST
G ST y (y > x) T «ff 41 Fa00 A | TR
T AIRe GIACY A AT, Tiiel @ 9o opff
AL

(A) (x-y) T
(B) (y—x) T

©) =5 &0

xy
. 51

D)

53, A5 8 SEId IACTH TS 82 1519 T2
A7 O INCT A 2 11 : 18 | O TR
A2y Fo?

(A) 20qZ3
(B) 21 3=F
(C) 247
(D) 33927

54. =i 93951 o 4B s1f%a i 2 Retefilors
AWE.| T AT G VR TNEAF 1A 99 35 B,
12 93 (NI Ao 7ag T fEme

(A) 456 &
(B) 482 R
(C) 552 [
(D) 556 &
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. ’ g
55, The Sepoy Revolt initially broke out in 55. Ptz fRuaiteg @ A e @ —
(A) Kanpur (A) T
(B) Barrackpore ®B) AP
(C) Chitpore © ﬁa%
(D) Mirpur '
(D) f=sfm

56. What is the interest of Rs. 300 at the rate of 56. 300 BiwiE 11% QA 5 I=EF M Fo?
11% for 5 years? - (A) ISOW

(A) Rs. 150 :

®) Rs. 165 . (B) 165

(C) Rs. 120 . = ‘ E (C) 120 St
(D) Rs. 200 (D) 200 Bt

57. Fahien haﬂ visited India during the rei gn of 57. 7 Bra 9 2o SIkee WTG‘F[—
(A) Harshavardhan (A) THa4q

(B) Yasovarman
(C) Chandragupta Maurya
(D) Chandragupta II Vikramaditya

~ (B) Ireiaws
(C) vmed Gy
(D) feelw vered fRFmifrey

58. The Panchayati Raj system was introduced 58. ST AMEES WW@W’-‘N"{’%W
in India by one of the following amendments: AnfEEre Ty €= 2

(B) 73rd "

(C) 70th . - B T
o st (C). 70w
| . (D) 71N

59. Alj travels a distance of 300m in 2 minutes. 59, w1 2 fifG 30 Gt 300 ﬁﬂ?{wwﬁxﬂr
and 30 seconds. What is hls speed in km/hr? (7 | [l 9w o ifeEe Fo1

(A) 69 (A) 69
(B) 71 . ®) 7-1

) 72 © 72
(D) 73 (D) 73
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60. Thedistance from the town A tothe townB
is 5 miles, C is 6 miles from B. Which of the
following could be the maximum distance from
AtoC? :

(A) 11 miles
(B) 8 miles
{C) 2 miles
(D) 4 miles

61. Whichofthe following numbersis divisible
by 3?
(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

62. Vitamin C is present in
(A) Neem
(B) Lemon
(C) Milk
(D} Carrot

63. Bats navigate in the dark using
(A) Eyes
(B) Nose
(C) Echo
(D) Smell

64. The sum of the squares of two positive
integers is 100 and the difference of their squares
is 28. The sum of the numbers is

(A) 12
B) 13
(©) 14
(D) 15

A-14

60. *ZF A (UF B-93F THG 5 T2 9R B (AT
C~q9 % 6 2% | NG FAG A (LEE Caz vy
VEY S AN ?

(A) 11 53T
(B) 8WiZ=
(©) 2 Wi
(D) 4w

61. TR @ 146 3w Reweg
(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

62. TSBIvM C @ My “fsal TE—
- (a) fmre
(B) ASET
(GRS
(D) [ieE

63. TS TG - = T ARE—
(A) 14
(B) =%
(C) afswf
(D) =

64. 7w SIS AR @R 100 @R
st q0efF ANag 28 | 120 16w qisiTs T
(A) 12
(B) 13
(©) 14
(D) 15




65. India became a Republic in

(A) 1951
(B) 1949
(C) 1950
(D) 1948

66. The Constitution of India was adopted on

(A) 25 November 1945
(B) 26 November 1949
(C) 26 January 1950
(D) 15 August 1947

67. The Speaker of the Rajya Sabha is

(A) Prime Minister of India
(B) Vice-President of India

(C) Chief Justice of the High Court
(D) President of India -

68. Cornea is present in the

(A) Ear
(B) Eye
(C) Nose
(D) Stomach

69. Cactus is found in the

(A) Polar Regions
(B) Desert
(C) Moon
(D) Ocean
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65. SO 2oy Y A (e =
. (A) 1951 '
_(B) 1949
(C) 1950
(D) 1948

66. ST FRY @ A R T
(A) 25 TS 1945
(B) 26 ACSHF 1949

(C) 26w 1950

(D) 15575 1947

67. TSy A NYHF T
(A) ©RTS AwE
(B) ST CHIARS
(C) 2% BT 2y Rotesife
(D) ©iareg TjAfS

68. iV e (@ e ST —
(A) I
B) G
(C) «iw
. (D) #irwgat

69, TP (SR ST
(A) G S

(B) wgil
(C) B

(D) Fg
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70. Carrots are rich int
(A) Vitamin B
(B) Vitamin C
(C). Vitamin A
(D) Vitamin D

71. The First Battle of Panipat took place in
(A) 1521
(B) 1523
(C) 1525
(D) 1526

72. The average of m numbers is n* and
the average of n numbers is m*. The average of
(m + n) numbers is

(A) mn

(B) m*+ n?

(C) mn (m*+nd

(D) mn (m*+ n*—mn)

73. The human body consists of
(A) 205 bones )

(B) 206 bones

(C) 204 bones

" (D) 203 bones

74. The Chemical name for common salt is
(A) Sodium Fluoride
(B) Sodium Chloride .
(C) Potassium Cyanide
(D) Potash '

A-16

70. s (3 Fobife wdiq FE—
(A) fobrfsm B
®) i C
~ (C) Teoifm A
(D) f&Bifm D

71. SMfRsidn A @A @@ AE
(A) 1521 : g
(B) 1523 '
(C) 1525
(D) 1526

72. m T S T 0t G4 n YT 5IC T md |
(m + n) FRYE TC F9?
(A) mn
(B) m+ r?
(C) mn (m*+n?)
(D)..mn (m*+ n*— mn)

73, WY Cree IEH TR =
(A) 205
(B) 206
(C) 204
(D) 203

74. FLIR TR IONAEF A9 T




75. Minamata Disease is due to
(A) Sulphur
(B) Nitrogen
(C) Mercury
(D) Potassium

76. If Manish walks 20 km/hr faster, then he
will save one hour to travel a distance 600 km.
What is the usual speed of Manish?

(A) 100 km/hr
(B) 120 km/hr
(C) 150 km/hr
(D) 160 km/hr

77. If the side of a square is increased by 30%,
then its area is increased by
(A) 9%
(B) 30%
(C) 60%
(D) 69%

78. The sumof twonumbersis 2490.If6-5% of .

one number is equal to 8:5% of the other, then the
greater number is

(A) 1079
(B) 1380
(©) 1411
D) 1250

79. The ratio of two numbers is 3 : 4 and their
sum is 420, The greater of the two numbers is

(A) 175 '
(B) 200
(C) 240
(D) 315

A-17 AMRI/22

75. fSmist G@resta e 2=
(A) AETwig
(B) REIEH
(C) W
(D) i

76. W Tt 20 [F/S w Soren winE
fofit 600 femifiiora 7w e 1 761 31w Fotren |
TN FreR oS Te?

(A) 100 f/=%1
(B) 120 /=51
(C) 150 Rfi/=t
(D) 160 ffi/a%t

77. I G qowTET A= 30% I T @,
SR 9 (FaF o e A2
(A) 9%
(B) 30%
(C) 60%
(D) 69%

78. o T T 251 2490 1 3 @i A
6:5% SIB 8-5%~4< ST 2, SIeET J767 D
= _

(A) 1079
(B) 1380
(C) 1411
(D) 1250

79. B IRYE A 3 : 4 G ORI Q@NT
420 1 A1 1o ST et FeA z=
(A)-175
(B) 200
(C) 240
(D) 315
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80. The leader of the Kaivartya Revolt was
(A) Puru
(B) Divya
(C) Arjun
(D) Harsha

81. Anita can cover a certain distance in
1 hr. 24 min. by covering % of the distance at
4 km/hr. and the rest at 5 km/hr. Find the total
distance.
(A} 4km
(B) 5km
(C) 6km
D) 7km

82. World Environment Day is observed on
(A) June 4
(B) June 5
(C) April4
(D) April 5

83. The respective ratio among the speed of a
bike, a van and a lorry is 3 : 5 : 2. The speed of the
van is 250% of the speed of the lorry which covers
360 km in 12 hours. What is the average speed of
the bike and the van together?

(A) 60 km/hr
(B) 62 km/hr
(C) 64 km/hr
(D) 63 km/hr

84. Onselling an article atacertain price,aman
gains 10%. On selling the same article at double
the price, gain per cent is

(A) 20%

(B) 100%
(©) 120%
(D) 140%

80, (39S RTaEg GToid
(A) 74 |
®) f o
(C) =g
D) =&

81. el g3 RS 7Ry 1 951 24 ff~E T
BIE % o A 4 R/ @ 93 A =
5 TR/ 701 (FUe S I | (G 799 F97?
(A) 43
®B) 5 &
(€) 6
D) 7=R

82. oy firet i +Aifere = @ faei—
(A) gt 4
B) TS
(C) «fetet 4
(D) «fg=r 5

83. 5 %, 9B HyH R 6 e sffew
TS 31 5: 2 I SR SIS =t oifod 250 *oiRe
T 12 9967 360 B Ao 32 1 93T 8 O 5T
oS «Feg O ?

(A) 60 /a0
(B) 62 f&fi/a%!
(C) 64 RR/THI
(D) 63 Bf/al

84. o3l e v o3 B [iF wae
G PE 10% TS T+ | 43, Ft fawd wic
Rfer T T *oig] oo ZI?

(A) 20%
(B) 100%
(©) 120%
(D) 140%
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85. The average of 6 observations is 45.5. If
one new observation is added to the previous
observations, then the new average becomes 47,
The new observation is

(A) 58
(B) 56
(©) 50
(D) 46

86. Raniganjis famous for one of the following
minerals:

(A) Iron
(B) Mica
(C) Coal
(D) Diamond

87. One of the following is responsible for
Global Warming:

(A) Nitric oxide-
(B) Carbon dioxide
(C) Sulphuric Acid
(D) Nitric Acid

88. Which one among the following is the
largest? _ :

@ 3

®) 15

© 3

10
D) 3

AMRIZZ

85. 6 & *rfwmam v = 45-51 W <4
AL X B TG AT @ T G,
SR TG AT A 47 | TGN R 2

(A) 58
(B) 56
(C) 50
(D) 46

86. xffRe e snie'H Moy sireat T
(A) e
(B) &=
(C) FF=
D)

87. T Seatarm o FafRe aFiafe wilt
(A) TG wwiTs '
. (B) 3 Tz
(C) AR wfie’
(D) =25 nife

88. FxFReulw Ty Wb weww 9wt ?
7 .
(A) 5 :

®) 17

3

4
10 -

13
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94. Milk is a rich source of
(A) Vitamin C

© (B) Calcium
(C) Potash
(D) Carbide

95. A 130 m long train crosses a bridge in
30 seconds at 45 km/hr. The length of the bridge is
(A) 200m
(B) 225m
(©) 245m
(D) 250 m

96. 5% income of A is equal to 15% income of
B and 10% income of B is equal to the 20% income
of C. If the income of C is Rs. 2,000, what is the
total income of A, B and C?

(A) Rs. 14,000
(B) Rs. 16,000
(C) Rs. 18,000
(D) Rs. 1,24,000

97. Blood has one of the following groups:
AM

(B) N
© O

(D) P

98. The ratio of cost price and selling price of
an article is 20 : 21. What is the profit per cent on
it?

(A) 5%
(B) 55%
©) 6%
(D) 6:25%

A-21 AMRI/22

94. 74 FaRe Impart Aga—
(A) Febim C
(B) Wt
(C) =Bt
(D) 3ffzw

95. @36 130 fiim 7Y @7 2f oy 45 B
G0t 30 GRS D (T Wit 33 | ergfba trd
=

(A) 200 f35=
(B) 225 o
(C) 245 FHE
(D) 250 filor

96. A-9% 5% S B~97 15% SHEI N G2
B-99 10% =" C-99 20% Siad 79 | 1% C-97

H1F 2,000 I =W, B A, B 922 C-9F (15 51y
FEO?

(A) 14,000 Si<l
(B) 16,000 Szt
(C) 18,000 Bl
(D) 1,24,000 B

97. MRiRe a6 ares ot ¢
(A) M
(B) N
(S
D) P

98. 437G fEfAoTa FET 9k RFaeTa wasiie
25 20 ; 21 | IR AT 94F FI0ST Mol TS 7
(A) 5%
(B) 55%
(C) 6%
D) 625%
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99. The Father of the Indian Constitution was 99, SO AR T R R «ifife
(A) Nehru | (A) T '
(B) M.N.Roy ' (B) 9. <. T
(C) B.R. Ambedkar (C) . =g, e |
(D) C.R.Das '

(D) . =ta. w9

100. The Saptaratha Temples at Mahabalipuram 100, THFAFER g R Fuffer ferem

were built by the (A) (tet q
(A) Cholas -
(B) e |
(C) Pallavas - (©) w3 s
(D) #fhey I

(D) Pandyas

(B) Chalukyas ‘ ‘
|
|
|
|
|
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1. The Father of the Indian Constitution was
(A) Nehru
(B) M. N. Roy
(©) B.R. Ambedkar
(D) C.R.Das

2. Polio is caused by
(A) Bacteria
(B) Virus
(C) Anti-biotic
(D) Medicine

3. The Panchayati Raj system was introduced
in India by one of the following amendments:

(A) 72nd
(B) 73rd
(C) 70th
(D) 71st

4. 5% income of A is equal to 15% income of
Band 10% income of B is equal to the 20% income
of C. If the income of C is Rs. 2,000, what is the
total income of A, B and C?

(A) Rs. 14,000
(B) Rs. 16,000
(C) Rs. 18,000
(D) Rs. 1,24,000

5. Incomes of A, B and C are in the ratio
7:9:12 and their expenditures are in the ratio
8:9: 15.1fA’s savingiis % ofhis income, then the
ratio of savings of A, B and C'is

(A) 56:99:69
. (B) 99:56:69
(C) 69:56:99
(D) 99:69:56

1. ool AR was Bk B sfafe
(A) =zF
(B) 99, @, TN
(©) R =17, wizgwew
(D) 1. =g, v

2. cslifere (Rishag Fimd ooz
(A) TR
(B) ©izam
(C) SyiFe-aaibs
(D) 98y

3. SRS AR AT I A AR
finfeRe At g ¢

(A) 7299
(B) 73
(C) 70w
(D) 71%%

4, A-99 5% ST B-99 15% SIEd 79 9a
B-49 10% ¥ C=99 20% Sitxa 7=+ | 1 C-97
17 2,000 BRF W, O A, B €% C—93 (5 517

. To?

(A) 14,000 Bt
(B) 16,000 Bt
(C) 18,000 5=
(D) 1,24,000 51

5. A, B 4R C-G% OITHS SoAlS 7: 9 12
R OIS A TGS 8 : 92 1513 A OFF S
% U A I, OIRE A, B GR C-97 TR

S T ?

(A) 56:99:69
(B) 99:56:69
(C) 69:56:99
(D) 99:69:56




6. ThePresidentofthe G-20 Group of countries
is
(A) Australia
(B) Canada
(C) Brazil

(D) India

3

7. The Chemical name for common salt is
(A) Sodium Fluoride o
(B) Sodium Chloride
(C) Potassium Cyanide
(D) Potash

8. The sum of the squares of two positive

integers is 100 and the difference of their Squares
is 28. The sum of the numbers is

(A) 12 R
(B) 13
(©) 14
(D) 15

9, Cactus is found in the
(A) Polar Regions
(B) Desert
(C) Moon <
(D) QOcean '

.
LTS

10. If7:x=17-5:22:5, ﬂ)enthevalueofxls'
(A) 6
(B) 8 . ) R PR
) 12 - )
®) 9 Ce

B-3.
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6. G20 csnﬁg@ mﬁaﬂ—iﬂ%m
(A) SgFm
(B) Il
(©) aifem
(D) ©fF®

7. mamaamawmﬁasmﬁ
(A) mﬁmﬂ@mﬁ@
(B) m@ﬂmm
(C) =i AmiRs
(D) ={or

[

8, 76« sl AR mrw 100 €%

| w«ﬁm@zslﬂ\mﬁamWW?

A) 12
(B) 13
©) 14
) 15

9, W—«ﬂ?@t‘ﬂﬁ?‘ﬂ@ﬂ"
(A) G/ o9
@) T )
(©) tm
(D) =

10. TH7 : x= 175 : 22-5, OTA =R A FE?
(A) 6
®B) 8 S
(C) 12 Wi
D) 9 -
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11. The First Battle of Tarain took place in
(A) 1192 AD,
(B) 1191 A.D.

(C) 1205 A.D.
(D) 1206 A.D.

12. One of the following is responsible for
Global Warming:

{A) Nitric oxide
(B) Carbon dioxide
(C) Sulphuric Acid
(D) Nitric Acid

13. The human body consists of
(A) 205 bones
(B) 206 bones
(C) 204 bones
(D) 203 bones

14, The ages of Samir and Tanuja are in the -

ratio 8: 15. After 9 years the ratio of their ages will

be 11 : 18. What i is the dlfferencc betwcen thelr

ages? ’
(A) 20 years n
(B) 21 years .
(C) 24 years
(D) 33 years

15. If Manish walks 20 km/hr faster, then he
will save one hour to travel a distance 600 km.
What is the usual speed of Manish?

(A) 100 km/hr
(B) 120 km/hr
(C) 150 kmm/hr
(D) 160 km/hr

11. SRRA-97 gloly 0w A
(A) 1192
(B) 1191
(C) 1205
(D) 1206

12 ey Traee wwy FefiRe ammafe wid
(A) TRET SHiRe
(B) T CiReERS
(C) e wiffie
(D) «iRGs =it

13. A (70% SRR A &
(A) 205
-(B) 206
(C) 204
(D) 203

14. A '@ SYE@IT IACE SIS 8 : 15 1 9 I
A IR T WAt 29 11 - 18 | Ofid e
Ml T e

(A) 20 =7
B) 21 3=
(C) 24==7
(D) 33 37

15, 59 7% 20 Rf/B wo Soren oigE
& 600 R=fbE waw e 1 %951 s Sivtrew |
TN AR oifs T e

(A) 100 /a5
(B) 120 f¥fi/abi
(C) 150 ffi/ast
D) 160 Bfi/a%




16. Carrots are rich in
(A) Vitamin B
(B) VitaminC
(C) Vitamin A
(D) Vitamin D

17. The Battle of Plassey was fought between
(A) Mir Qasim and Mir Jafar
(B) Siraj-ud-Daulah and the English East
India Company
(C) Mir Jafar and the French
(D) Shah Alam and the English

18. The average of 50 numbers is 28. If two
numbers, namely 25 and 35 are discarded, then the
average of the remaining numbers is nearly

(A) 2729
B) 2792
(©) 2927
(D) 2972

19 A boat covers a distance of 30 km in

2 hours running downstream. W}ulc retarning,

it covers the same distance in 3 hours What is
the speed of the boat in still watcr‘?

(A) 8 km/hr

(B) 12 km/hr

(C) 15 km/hr

(D) None of the above

20. Bats navigate iQ the dark using
(A) Eyes
(B) Nose
(C) Echo
(D) Smell

B-5
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16. Siem (@ feBIRM g RE—
(A) fouifsm B
(B) fosifm C
(C) fo5itE A
(D) foiEm D

17. *=1¥i goad T 2ffewal faemv
(A) Nz wifFm e N7 wies
(B) Prar-Gv-¢ia e Y@ o e
=i
(C) A wiwd 8 FAH
(D) Iz ST 8 BRI

18. 50 {3 =@ ofe 281 7R 76 7RG, T 25
@32 35 A (TeTl T, OIREE SRMG TR oIg
(diR) TS ¢

(A) 2729
(B) 27-92
(C) 2927
(D) 29-72

19. wwwﬁ@mz 'ﬂ%maoﬁtﬁ

, A e T | (TR mi»:w 32 %
: WWWIE@WW?{%@%TW?

(A) 8 /el
(B) 12 f&fi/as!
(O) 15 Bf/aH
(D) TAER @IEIHE T

20, TS A AL-FoH T T ARG —
(A) B
(B) A%
(C) dfewiw
(D) g
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21. Vitamin C is present in
(A) Neem
(B) Lemon
(C) Milk
D) Cfirrot

22. A pipe canfill atank in x hours and another

pipe can empty it in y (y > x) hours. If both the
pipes are open, in how many hours will the tank be
filled? ‘

(A) {(x~-y) hours
(B) (y - x) hours

©)

—~7 hours

X
(D) V% hours

23. The ratio of two numbers is 3 : 4 and their .

sum is 420. The greater of the two numbers is -
(A) 175
(B) 200
(©) 240
(D) 315

24. The Sepoy Revolt initially broke out in
(A) Kanpur
(B) Barrackpore
(C) Chitpore
(D) Mirpur

25, Darjeeling district is famous for
(A) Coffee
(B) Cocoa
(C) Tea
(D) Sugar

21. foBIfw C @ Wgaey Areat atg—
(A) Fw
(B) #iferg
(C) 7%
(D) =terg

22. TG #11%e1 x 9517 ofG BivE sjact TS iew
QR S0 y (v > x) 907 a6 A T30S v ) IR
To #HfRe! G QA AT, BT T 4B sfef
9t

(A) (x—y) =61
(B) (y—x) TG

© 525 =0

@) 525

23, TG WRAIF S 3 : 4 G O QTS
420 | 7Y 9fB1 W 08 ARG 2=
(A) 175
(B) 200
(C) 240
D) 315

24, FieiiR Roaies @i el g5 —
(A) w13
(B) MW
(C) Toesm
(D) famelg

25. WRGR o T Ty Rere—
(A) 3
(B) (=it
©
(D) B



26. The First Vice-President of Independent
India had been

(A) C.Rajagopalachari

(B) Dr. Zakir Hussain

(C) Dr. S. Radhakrishnan

(D) Maulana Abul Kalam Azad

27. fa:b=3:5andb:c=7:8, then
2a:3b:7cisequalto
(A) 42:105:280
(B) 15:21:40
(C) 6:15:40
(D) 30:21:350

1 " 28, Which one among the following is the
largest?

(A)
(B)
©
D)

wl b 0o]~1 [ 1]

29, Which ofthe following numbers is divisible
by 3?7
(A) 24357806
{B) 35769812
(C) 3336433
(D) 83479560

30. The Akbar Namah was written by
(A) Abdul Hamid
(B) Faizi
(C) Abul Fazl
(D) Firoz Shah Tuglaq

B-7
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26. FA ©OEred A TGS 'eew
(A) B rEsisEGR
(B) ©. WIfFacaie™
(C) ©. & FTR

(D) CAIETIAI SGET B S

27. fMa:b=3:59Rb:c=7: 8T, 9YA
2a:3b:7c TOFA?
(A) 42:105:280
(B) 15:21:40
(©) 6:15:40
(D) 30:21:350

28. FmFERe AR Gt TawE et ?

(A)
(B)
©)

th| & 00]= v th <3 on

(D)

29, NEF @ RS 3 =R Kowy e
(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

30, wIE A'F 76Tl e
(A) S Rm
(B) wief&
(C) TA TEE
(D) Retate g guew
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. 31. Raniganjis famous for one of the following
minerals:

(A} Iron

(B) Mica

(C) Coal

(D) Diamond

32. Thelndian Natxona] Congress was founded
in the year

(A) 1883
(B) 1884
(C) 1885
(D) 1886

33. India became a Republic in .
(A) 1951
(B) 1949
(©) 1950
(D) 1948

34. Doctor’s Day is celebrated on -
(A) July 2 : T
B) July 1 ‘
(C) June 4
(D) June 5

35. Ram and Shyam together can finish a job
in 8 days. Ram can do the same job on his own in
12 days. How long will Shyam take to do the job
by himself?

(A) 16 days
(B) 20 days
(C) 24 days
(D) 30 days

B-8

31. FfRe Wi s aifsg steat ame
(A) =T
(B) =
(C) et
D) TN

32. OEUSH SO T dfed 2 @ AEi—
(A) 1883
(B) 1884
(C) 1885
(D) 1886

33. ©ITON Erey (@ A @ik =
(A) 1951
(B) 1949
(C) 1950
(D) 1948

34. Didw™ i siffe _
(A) TR 2 ‘
(B) TR 1
C g4
D) gF5

35. Q=I5 TR 8 it @ lb ey ooin Face
G 1 A fieer 92 2 <prer 12 fies 0 e 14t |
ﬁr@aﬂwﬁ?wrﬁnmm?
(A) 16 T4a
(B) 20 f= I
(C) 24w :
(D) 30 f=
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41. Paradeep port is located in
(A) Lakshadweep
(B) West Bengal
(C) Odisha
(D) Tamilnadu

42. Sushil was thrice as old as Snehal 6 years

back. Sushil will be g times as old as Snehal

6 years hence. How old is Snehal now?
. (A) 12 years
(B) 15 years
(C) 18 years
(D) 24 years

43. Thedistance from the town A to the town B
is 5 miles, C is 6 miles from B. Which of the

following could be the maximum distance from
AtoC? '

(A) 11 miles

(B) 8 miles

(C) 2 miles

(D) 4 miles e

44, Which one among the following is the
largest?

(A)
(B)

& w :[: =JEN

©)

® 3

45, Who said, “Swaraj is my birthright™?

(A) Gandhi
(B) Nehru
(C) Tilak
(D) Gokhale

B-10

41. SRR IR @AE SREe—
(A) =R
(B) P
(C) eft
(D) sifieHre

42. 6 IR A FANCETE T (N IAEE 3 @9
f’ﬁimmﬂa:ﬁmwmw%w
I | (FRIETT IS T F9 7

" (A) 1297

(B) 153=d
(C) 18323 Con
(D) 24 T3

43, *1Z3 A (VT B-47 Y 5 MR 4R B (A
C-9F Y 6 WZF | AIHE I A (I C~a9 WA

RS O AANAe

(A) 11 9f3e
(B) 8 Wfz&
(C) 2wigA
D) 4 W=

4. TfReefsm T @Eb _ow T2
7
@ 3
®) 17

© 3

®) 3

45. ‘TS TS SRR (2 RS w2
(A) &t
(B) ==
) feere
(D) CoArRTet
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46. A,B and Cinvested Rs. 26,000, Rs. 34,000
and Rs. 10,000 respectively in a business. At the
end of the year, they earn a profit of Rs. 3,500.
B’s share of profit is '

(A) Rs. 1,200
(B) Rs. 1,500
(C) Rs. 1,700
(D) Rs. 1,900

47. The sum of two numbers is 2490.1f6-5% of
one number is equal to 8:5% of the other, then the
greater number is

(A) 1079
(B) 1380
©) 1411
(D) 1250

48. Akash leaves Mumbai at 6 am and reaches
Bangalore at 10 am. Prakash leaves Bangalore at
8 am and reaches Mumbai at 11.30 am. At what
time do they cross each other? ‘

(A) 10 am

(B) 8.32am
(C) 8.56am
(D) 9.20 am

49, The First Speaker of the India Constituent

~ Assembly had been

(A) G. H. Deshmukh
(B) Hukum Singh
(C) Swaran Singh
(D) G.V.Mavalankar

50. AcharyaPrafullaChandraRoy wasafamous
(A) Doctor
(B) Chemist
(C) Physicist
(D) Mathematician

AMRI/22

46. <3G A, B 932 C I 26,000 51,
34,000 B €% 10,000 B Rt =@ | I=39
(TR ©1Ft 3,500 I F71S P | B9 it d S &

(A) 1,200 5=t .
(B) 1,500 it
(C) 1,700 B
(D) 1,900 BrA

47. w5 AR IorFe1 25 2490 | T G5 TS
6-5% SFGBH 8+5%-9 I T, SILTE I8 FRYMo
=

(A) 1079
(B) 1380
(C) 1411
(D) 1250

48. T FHE 661N TFR (AE QG TF TR
10G G (e | 2Rep S7le] 861 [
(/IT% e 7 T 11.30 R 7iE ol | @m
I O GTF TAACE ST I ?

(A) 10 am

(B) 8.32am
(C) 8.56 am
(D) 9.20 am

49. SRR A Hew 247 AT R
(A) f&. «3p. (i
(B) = Firg
(€) w34
(D) f&. fe. wiewEEe

50. <ot &g b AN oW @3 [Uie
(A) &
(B) =R
(C) =m<Rn
(D) sifie®w

Please Turn Over
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51. Fahien had visited India during the rclgn of 51. o o A9 wiErwiE oS SEH—
(A) Harshavardhan (A) e
(B) Yasovarman (B) T
(C) Chandragupta Maurya (©) Tmae G

(D) Chandragupta IT Vikramaditya
gup 4 (D) o vered R

52. The Constitution of India was adopted on 52. ©raed FRYN @ JiE bEICk
(A) 25 November 1945 (A) 25 qreg 1945

(B} 26 November 1949 (B) 26 9054 1949

(©) 26 January 1950
C) 26 S 1950
(D) 15 August 1947 , . (O 6=

(D) 1594975 1947

1

53. A man walks 1 km on 1st day, 2 km on 2nd 53. ma iR 29w i 1 R, @ i 2 Bl
day, 3 km on 3rd day and so on. The total distance SO e 3 R GBI G @RS 10 T Giis e

the man covers in 10 days is

YEY G IR0 jj
(A) 40 km (A) 40 R '
(B) 50 km '
©) 55 km B) 50 =f
(D) 58 km - () 550
-~ (D) 58 Rl
54. What is the interest of Rs. 300 at the rate of 54. 300 BIE 11% 2 5 I2=E 0 T2 \
11% for 5 years? (A) 150 5=
(A) Rs. 150 - @) 1655
®) Rs. 165 C) 120 %
(C) Rs. 120 ©
(D) Rs. 200 - (D) 2005
55. Acharya Jagadish Chandra Bose.was a 55. w6 Tl b <0, fore wam R -
famous(A) . . (A) AT
mnger
& ®) I
(B) Poet X
(C) Scientist ©

(D) Politician (D) Hletafes Erer -

i
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56. Two vessels are filled with mixtures of milk
and water in the ratio 3 : 2 and 6 ; 5 respectively.
In what ratio should these mixtures be mixed so

‘that the ratio of milk and water in the final mixture

becomes 4 : 37
(A) 6:13
(B) 9:14
(C) 10:11
D) 5:8

57. Two pipes A and B can fill a tank in
15 minutes and 20 minutes respectively. Both the
pipes are open together. But after 4 minutes pipe
A is turned off. What is the total time required to
fill the tank?

(A) 10 min. 40 sec.
(B) 11 min. 45 sec.
{C) 12 min. 30 sec.
(D) 14 min. 40 sec.

58. The respective ratio among the speed of a
bike, a van and alorry is 3 : 5 : 2. The speed of the
van is 250% of the speed of the lorry which covers
360 km in 12 hours. What is the average speed of.
the bike and the van together?

(A) 60 kmv/hr
(B) 62 km/hr
(C) 64 km/hr
(D) 63 km/hr

59. Blood has one of the following groups:
A M '
(B) N
(O
(D) P

60. “Anandamath” was written by
(A) Bankim Chandra Chatterjee
(B) Sarat Chandra Chatterjee
(C) Rabindranath Tagore
(D) Rashbehari Bose

AMRI/22

56. 40 G VTG 3:2 AR 6: 5 TFATS 7Y
GG TR0 ST ST | (I WA R el
fiftre e g Bt 13 Q3R TR SRS 9
4:37

(A) 6:13
B) 9:14
(C) 10: 11
(D) 5:8

57. %6 +lig? A 93z B &0 5w weie 15 7S
Q7 20 NG ©fS Ta0e it | BT 2i3s g i
CAIET 28 135G 4 TG #191 A #ii2wif6 a5 st | Tyl
©f% 200 TS AT FMI?

(A) 10 36 40 e
B) 11 [ 5 45 s
(©) 12 55 30 cies
(D) 14 &G 40 Gl

58. Gafd %, 9o oym a2 <o Ak sifew
TEANS 3 ;5 ;2 1R SIS Al Sifeq 250 =wien

[} 129517 360 Rfr wifeew | 712 @ ot ste

5% «<Fea T 7
(A) 60 TBfl/a%
(B) 62 fHf/ae6t
(C) 64 f&fF/a%t
(D) 63 /<%

59, fasfafde 9ot wreg oot 3
A M
(B) N
©) O
(D) P

60. “TTFNS" - ETAF-IF A
(A) Mo S
(B) *9<b® GLBI=ligE
(C) I I
(D) IR 7
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a 7
61. Ifz=§,
(A) 7:9:15
B) 7:9:5
(C) 21:35:45
(D) 7:3:15

%:%,thenthevalueofa :b:cis

62. The First Battle of Panipat took place in
(A) 1521
(B) 1523
(C) 1525
(D) 1526

63. Onselling an article atacertain price, aman
gains 10%. On selling the same article at double
the price, gain per cent is

O (A) 20%
(B) 100%
(C) 120%
(D) 140%

64. The difference between compound and
simple interest on Rs. 8,000 at 5% p.a. for 3 yearsis
(A) Rs. 50
(B) Rs.60
(C) Rs. 61
(D) Rs. 600

65. Sasanka was the King of
(A) South India
(B) Gujarat
(C) Gaur
(D) Malbhum

B-14

=
=
]
Il -
O~
oo

| W

2, a:b:c O g FO?
(A) 7:9:15
(B) 7:9:5
(C) 21:35:45
(D) 7:3:15

62. Ao o Ia e 78 @ AR
(A) 1521
(B) 1523
(C) 1525
(D) 1526

63. < PR T 3l &Fm RiE FaE
G Ji&E 10% w1e FE= | @2, & Rest vt
fer vat T =it oite A7

(A) 20%

(B) 100%
(©) 120%
(D) 140%

64. 3 TEEE &Y 5% QAT @ 8,000 BRFF

P AW G FFE O NG AN ==
(A) 50T
(B) 60Tt
(C) 615
(D) 600 5=t

65. *iiF (7 UweTd A oW ¢ =
(A) wPet SIFe
(B) @e@ic
(C) ¢Me
(D) e




66. Pisfasterthan Q. P and Q each walk 24 km.
The sum of their speeds is 7 km/hr and the sum of
times taken by them is 14 hours. Then P’s speed is
equal to

(A) 3 km/hr
(B) 4 kmv/hr
(C) S km/hr
(D) 6 km/hr-

67. Pragyan is associated with
(A) Missile Technology
(B) Space Research
(C) Oceanography
(D) Climate

68. If 2=x+ 11 ,then whatis the value of x?

1+;—1—
4

E
17
21
B) 17

© &

®) 1

(A)

69. The Saptaratha Temples at Mahabalipuram
were built by the

(A) Cholas
(B) Chalukyas
(C) Pallavas
(D) Pandyas

70. Milk is a rich source of
(A) Vitamin C
(B) Calcium
(C) Potash
(D) Carbide

B-15 AMRI/22

66. P, Q-99 (500 To B P @I Q Ter
24 0 2 | IR sifew ctsiwe 7 Rf/ae gag
S (FST AN @STH 14 9551 | SIRGE P47 sife
FS 0

(A) 3 Rfy/es
(B) 4 fef/a%t
(C) 5 Rfi/aH
(D) 6 [/

67. ‘g@m-a3 TF (F MuleRe Rema wox
w_
(A) CFlE =
(B) =k
(C) I R
(D) wizew!

68. Ift 2=x+

2, OIRE - GF i FO 7

E.
17
21
B) 17

©) 13

17
D)

(A)

12
17
69, TREFET A AFEs el Rgew
(A) Gl T2
(B) ol I
(C) Awg I
(D) iray et

70. 74 FafEe Wmpet wym—
(A) feoifim C
(B) Tt
(C) o
(D) FHfZe

Please Turn Qver
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71. Plague is a disease caused by 71, Celo TREE e FEE T
(A) Mosquito (A) Pl
(B) Rats . (B) a7
(09) Bfits (C) I
(D) Birds D) AR
72. The speed of a car increases by 2 km after 72. 2l O 95t o9 93T MR o1 2 RO
every one hour. If the distance travelling in the first g | A 9N 9F TBR TR A 79 35 o,
one hour was 35 km, what was the total distance 12 9951 (G SIS 7HY O B
travelled in 12 hours? (A) 456 R
(A) 456 km
B) 482 km (B) 482 ¥
(©) 552km © 2l
(D) 556 km . (D) 556 ff
|
73. Plants manufacture food through 73. Sl A Besima IR FefRe i 1
(A) Photosynthesis (A) AIETFREE ‘
(B) Respiration (B) ©few W=
(C) Transpiration (C) SfETT= WP1-ei
(D) Evaporation (D) SRora qrafieam
74. World Environment Day is observed on 74. ey offe e s @ @ fom— 1
(A) June 4 (A) g4 )
(B) June 5 (B) g 5 - !
(C) April 4 ©) w4
D) April 5 (D) ¥ 5
75. By selling 100 pencils, a shopkeeper gains 75, 1007 (it R Tea gavem oo 201
the selling price of 20 pencils. His gain per centis |. coife Rferg oy e IR | OF FATST =i T
(A) 25% (A) 25%
(B) 20% ‘ (B) 20%
©) 15% (©) 15%
(D) 12% (D) 12%




76. If the side of a square is increased by 30%,
then its area is increased by
- (A) 9%
(B) 30%
(C) 60%
(D) 69%

77. Water is composed of
(A) Hydrogen and Ozone
(B) Hydrogen and Oxygen
(O Nitrogen and Oxygen
(D) Chlorine and Oxygen

78. BRICS relates to
(A) Group of Countries
(B) Chambers of Commerce
(C) Political Parties
(D) NGO

79. Minamata Disease is due to
(A) Sulphur
(B) Nitrogen
(C) Mercury
(D) Potassium

80. Dr. Meghnad Saha was a famous
(A) Mathematician
(B) Physicist
{(C) Chemist
(D) Doctor

B-17 , AMRI?22

76. T 93 fCFeET A= 30% IR T =,
SIRE G (FITE T I AL ?
(A) 9%
(B) 30%
(C) 60%
(D) 69%

77. -4 (@ 16 IR e wie—
(A) TSI G @I
(B) QTGS IR ARG
(C) 7REEm G e
(D) @IEw 9 wfSew

78. BRICS &
(A) AT oIt}
(B) 3faF iy
(C) AT W
(D) TR

79. RIS sl e 2=
(A) TR
(B) A
(€ “rm
(D) =it

80. T3 GrgIm 1Y fare T AU
(A) stidem
(B) “mRm
(C) E=fm
(D) Sielq

Please Turn Qver
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81. The Aihole Prasasti is associated with 81, wfRes e W T IE
(A) Samudragupta (A) THReY
(B) Vishnugupta B) Rgpod
(C) Pulekeshin II
C) e ==
(D) Rajendra Chola ©
(D) =" B
82. Two numbers are in the ratio 3 : 5. If each 82. WS TR WA 3 : 5137 effeft Fireyies 10
number is increased by 10, the ratio becomes 5: 7. R % 1 2, Ol WS 51 7 T et ==
The numbers are ) : (A) 3,5 .
A) 3,5 ®) 7,9 |
B) 7,9 (C) 13,22
(©) 13,22 D) 15,25

D) 15,25

83. The ratio of cost price and selling price of 83, 3l EFrR TaEy 93 ReFaa ereie
an article is 20 ¢ 21. What is the profit per cent on % 20 : 21 | SigE UF SoF Flied HoI 97

it? (A) 5%
(A) 5% - (B) 5:5%
B) 55% (C) 6%
((8 2‘7;5? (D) 625%
N 0

84. Find the LCM. of 3,5, 12 8. 3,3 Lo, fefy v
(A) 280 (A) 280
(B) 360 (B) 360
(C) 440 (C) 440
(D) 420 (D) 420

O
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85. Anita can cover a.certain distance in 85. it @it S 73w 1 991 24 BFG 7m)
1 hr. 24 min. by covering ; of the distance at | 3f¥ % | AW 4 BR/IB @t g9g Al ot
4 km/br. and the rest at 5 km/hr. Find the total 5 A/ 2981 (ot e 33 | uls g we
distance. (A) 4=
(A) 4km B) 5 R
(B) 5km (C) 6 TR
(C) 6km D) 7 =
(D) 7km
|
86. The average of 15 numbers is 7. Out of 86. 15T Moz 7 | qq Ty 2 8 B oveapiy
them the average of first 8 numbers is 6-5 and the T 6-5 q7R (413 8 T6 7151 1% 9-5 | e e ifo 2
average of last 8 numbers is 9-5. The middle ) @A) 21 )
- number is _ @) 2
(4) 21 (© 23
B) 22 (D) 24
(C) 23 ]
(D) 24
87. The compound interest on Rs. 20,480 at 87. 20,480 Giwig ©eig 299 73 Mg wey i
6:11- % per annum for 2 years and 73 days is 6;11- % JA WFE BilEd]
(A) Rs. 3,000 (A) 3,000 B0t
(B) Rs. 3,131 (B) 3,131 it
(D) Rs. 3,636 (D) 3,636 5
88. Who was known as Alamgir? 88. TN AN (F ~Hf4bs Freme
"~ (A) Shah Jahan (A) =Z g
C A b .
(©) Aurangze . : (©) FmTER
(D) Akbar
- (D) Seag

Please Turn Over
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89. The leader of the Kaivartya Revolt was
(A) Puru
(B) Divya
(C) Arjun
(D) Harsha

90. Cornea is present in the
(A) Ear
(B) Eye
(C) Nose
(D) Stomach

91. The Chief Justice of the Supreme Court of
India is appointed by the

(A) Prime Minister of India
(B) President of India

(C) Vice-President of India
(D) Lok Sabha

92. The authorof “The Story of My Experiments
with Truth” had been

(A) Netaji Subhas Chandra Bose
(B) Gopal Krishna Gokhale

(C) Mahatma Gandhi

(D) Aurobindo Ghosh

93. A 130 m long train crosses a bridge in
30 seconds at 45 km/hr. The length of the bridge is
(A) 200 m
(B) 225m
(C) 245 m
(D) 250m

89. (S RuaiEd et Wi
' (A) <IF
(B) W
(C) =g
O =

90, a (e (@ =T wafEs—
(A) I ‘
(B) o™
©) =
(D) ~AFER

91. SIISR AN (B el REifers e
(A) SIFTed eHiag
(B) ©r&red AgAA®
(C) orqred Sragefs
(D) GETel

92. “The Story of My Experiments with Truth”
43 @19% A
(A) CTifer Teraa 7]
(B) caitsiteT e (AT
(C) =T i
(D) =R (e

93. = 130 iR A Gw &S vHE 45 B
@t 30 GRS I GTg Siees 303 | FTeba o
'@ .

(A) 200 fietg
(B) 225 fioE
(C) 245 FivrE
(D) 250 fibrg




94, Find the value of:

(243)% x 32141
9% x 31

(A) 9

(B) 3

(C) 3"-]

D) 27

95, Find the value of:
—1—+ L + 1 ot 1
1x2  2x3 3x4 ™7 ox10

(A)

|e 5[~

®)
1
@) 10

(=}

96. The First Woman Ruler to sit on the throne
of Delht had been

(A) Abeda
(B) Zubeida
(C) Rokeya
(D) Razia

97. The average of 6 observations is 45.5. If
one new observation is added to the previous
observations, then the new average becomes 47.
The new observation is

(A) 58
®B) 56
(©) 50
D) 46

98. Ali travels a distance of 300m in 2 minutes
and 30 seconds. What is his speed in km/hr?

(A) 69
B) 7-1
(©) 72
D) 73

B-21 ' AMRI/22

94, W fefa a2
(243)% x 32041
On w 3n—l
(A) 9
(B) 3"
(C) 3~
(D) 27

95, Wiw <7 ol 8
SLENE S SR
Ix2  2x3 3x4 " 9x10

(A)

[ 3[=

(B)

©
D) 10

—_t
(]

96. A e =7 R Mg Fiegwm som—
(A) Wt

(B) it
(©) e
(D) A

97. 6 B AFCE N = 455 I oS
AR AR G g ST @iel o1 =,
SIRE TG VG (A 47 | TG AT 5w

(A) 58
B) 56
(©) 50
(D) 46

98. =1t 2 G 30 Gt 300 b g S
T4 | /e oix sifers so7
(A) 69
B) 71
() 72
(D) 73

Please Turn Over
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99, The Speaker of the Rajya Sabha is
(A) Prime Minister of India
(B) Vice-President of India
(C) Chief Justice of the High Court
(D) President of India

100. There are three full containers of mixture of
milk and water and their volumes are in the ratio
7-5:13. The milk and water ratio in these
containersis 2 : 3,47 : 53 and 9 : 11 respectively.
If these are mixed together, find the ratio of milk
and water in the new mixture.

(A) 11:14
B) 14:17
(©) 9:16

(D) 12:13

99, T FAS SREF LT
(A) SHTST 2R
(B) SRTeA Goapafe
(C) 2R @5 g Reizeife
(D) SRTed AFAS

100. ¥¥ 938 ST R oo ofef =iia qrarg @
ST SIS WS 7 : 5 5 1316 #Aiaefes 14
TR T AT TG 2 : 3,47 : 53991 111
qaf et RN Te Tge B 70 e weER
e A s

(A) 11:14
(B) 14:17
(C) 9:16
(D) 12:13

.y
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_ 1. Akash leaves Mumbai at 6 am and reaches
Bangalore at 10 am. Prakash leaves Bangalore at
8 am and reaches Mumbai at 11.30:am. At what
time do they cross each other?

- (A) 10am
i (B) 832am
(C) 8.56am
F (D) 920am

2. Water is composed of
(A) Hydrogen and Ozone
(B) Hydrogen and Oxygen
(C) Nitrogen and Oxygen
(D) Chlorine and Oxygen

3. The leader of the Kaivartya Revolt was
(A) Purun
(B) Divya
(C) Arjun
(D) Harsha

" 4, The sum of the squares of two positive
integers is 100 and the difference of their squares
is 28. The sum of the numbers is

(A) 12
(B) 13
©) 14
(D) 15

RS
[}
H

1+, 5. Sasanka was the King of
- (A) SouthIndia = '
(B) Gujarat
(C) Gaur '
(D) Malbhum

C-2

1. e FAPleT GBI YHiE (AT DG B FFle
105 [TAIC (AT | 2T TS SO JIsees

(3T 6T TR P 11.30 R oz e [

FNTA ST TR AR SR I 2
(A) 10 am
(B) 8.32am
(C) 8.56 am
(D) 9.20 am

2. TE-9 @ 96 IS Gl Site—
(A) TGS IR STE
(B) - TRIGITEH <% SIfHTe
(C) TGt @R S
D) i 932 wiEHcem

3. == Rmied Toig
GO <
N GORG
. (©)
L o

ER

4. 56 @S 7R MYIF @A 100 @R
Ot 0o ey 28 | AN 4BF @it T2
(A) 12

(B) 13

(©) 14

(D) 15

| 5. *iE (X REET Ie fRew S e
(A) e erEe BT
(B) @& e
© e
(D) T
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6. Sushil was thrice as old as Snehal 6 years 6. 6 SN P A T3 9 g
back. Sushil will be 2 times as old as Snehal | 311 6 TR AR ET WP TR WO Sed
6 years hence. How old is Snehal now? (A | GTETER W 59 T ? a

(A} 12 years (A) 123&3
(B) 15 years - (B) 15327
{C) 18 years (©) 18 7=
(D) 24 years (D) 24 3=

7. Anita can cover a certain distance in 7. Wﬁw‘ﬂzﬁﬁﬁﬁ%@ﬁ 1 9951 24 s |
1 hr. 24 min. by covering 3 2 of the distance at | W 2 W\“T T 4 ﬁiﬁ/ﬁ“{“ﬁ @l aR ARF =
4 km/hr. and the rest at 5 kmlhr. Find the total 5 ﬁﬁ/sr«%r et wﬁm FA | (TG 737G 92

distance. (A) 4R
(A) 4km - B) 5 &
(B) 5km " (C) 6T
(C) 6km “ D) 7R
(D) 7km
8. The average of 15 numbers is 7. Out of 8. 15 B0 ez 7 | 9wy e 8 B oieeyia

them the average of first 8 numbers is 65 and the 9% 6-5 Q32 (3 8 15 LI 5% 9-5 | IR 2B ==
average of last 8 numbers is 9-5. The middle

. (A) 21
number is -
(B) 22~ o (D) 24
(C) 23 (D)
(D) 24
9. The speed of a car increases by 2'km after 9. 2ffs G 9Tt ofF GG SiifST 516 2 Frenier

every one hour. If the distance travelling in the first T | A 2T GF TBE g e 7o 35 &f,

one hour was 35 km, what was the total distance _ o
travelled in 12 hours? 12 %51 G5 TR T fezte

(A) 456 km (A) 456 R
(B) 482km (®) 482 F#f
(C) 552 km (C) 552
(D) 556 km (D) 556 "R

Please Turn Over
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10. A 130 m long train crosses a bridge in
30 seconds at 45 km/hr. The length of the bridge is
(A) 200 m ’
- (B) 225m
(C) 245m
(D) 250 m

11. Who was known as Alamgir?
(A) Shah Jahan
(B) Jahangir
(C) Aurangzeb
(D) Akbar

12, ThelndianNational Congress was founded
in the year
(A) 1883
(B) 1884
(C) 1885
(D) 1886

13. The ages of Samir and Tanuja are in the
ratio 8 : 15. After 9 years the ratio of their ages will
be 11 : 18. What is the difference between their
ages?

(A) 20 years
(B) 21 years
(C) 24 years
(D) 33 years

14. The distance from the town A to the townB
is 5 miles, C is 6 miles from B. Which of the
following could be the maximum distance from
Ato C?

+ (A) 11 miles
(B) 8 miles
(C) 2 miles
(D) 4 miles

C4

1

10. 9= 130 oW R & =fS wom 45 R
@A 30 GATS G T Sfeer Tl | GTofod o
Eal .

(A) 200 f5=
(B) 225 for
(C) 245 [
(D) 250 fior

11. SRR T @ AfRbe e
(A) W =ERE
(B) wRIRE
(C) BTHER
(D) WA

12, ©I0oa TeR TEEE 29 T @ AET—
(A) 1883
(B) 1884
(C) 1885
(D) 1886

13. 59 8 OEIA U SIS 8 : 1519 J&A
5/ OIHA TACTE A T 11 ¢ 18 | SItH I .
{1l TS ? , 3
(A) 20T
(B) 21 3=
(C) 249=a
(D) 339=4 -

14. *izd A (U B-93 TFY 5 T2H ¥k B (4@
C~aF AT 6 MZF | A3 IR A (A& C-93 7w
VAR 0O A ? :

(A) 1191
(B) 8 W&
(C) 2 Wi&#
(D) 4 Wiz




15. Plants manufacture food through
{(A) Photosynthesis
(B) Respiration
(C) Transpiration
(D) Evaporation

16. BRICS relates to
(A) Group of Countries
(B) Chambers of Commerce
(C) Political Parties
(D) NGO

17. A boat covers a distance of 30 km in
2” hours running downstream. Wh1lc returning,
it covers the same distance in 3 hours. What is

the speed of the boat in still water‘?
(A) 8km/hr
(B) 12 km/hr
(C) 15 km/hr
(D) None of the above

18. One of the following is responsible for
Global Warming:
{A) Nitric oxide
(B) Carbon dioxide
(C) Sulphuric Acid
(D) Nitric Acid

19. Ram and Shyam together can finish a job
in 8 days. Ram can do the same job on his own in
12 days. How long will Shyam take to do the job
by himself?

(A) 16 days
(B) 20 days
(C) 24 days
(D) 30 days

cs5 . AMRI/22

15. SR 4 S Ty el diras
(A) TGN
(B) Sfewmd oW
(C) Ti%ma wrt-amis
(D) ©f%ma arirew

16. BRICS =& ‘
(A) gL Coltdt
(B) 3 witq
(C) ANEfes 7e1
(D) CFOITA (i

17. Ww@aﬁﬁmz ﬁmoﬁsﬁ
WWW!WW&@W3 IR
wfeew 0 | 53 o iy ﬁf“wwf?ﬁ@? '

(A) 8 Rf/=w
(B) 12 &f/a%t
(C) 15 /a5t
(D) THAEA @ICAIDE T

18, T Brema vy Frfiis ammies vl
(A) «hT TIRe
(B) FIKA Giz=mET
(C) TSRS whibe
(D) TREs =i

19. Fie s @ 8 M =it oier o Ta0e
0 | i 0% 93 W3 T 12 i a0 oIt 171w
e T 90 FOmMA TR (" 2

(A) 16 =
(B) 20 =
(C) 24T
(D) 30
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20. There are three full containers of mixture of

milk and water and their volumes are in the ratio
7:5:13. The milk and water ratio in these
containersis 2 : 3,47 : 53 and 9 : 11 respectively.
If these are mixed together, find the ratio of mitk
and water in the new mixture.

(A) 11:14
- (B) 14:17
(C) 9:16
(D) 12:13

21. fa:b=3:5and b:c=7:8, then
2a :3b :7cis equal to
(A) 42:105:280
(B) 15:21:40
(C) 6:15:40
(D) 30:21:350

22. The First Speaker of the India Constituent
Assembly had been

(A) G. H. Deshmukh
(B) Hukum Singh
(C) Swaran Singh
(D) G.V.Mavalankar

23. The Constitution of India was adopted on
(A) 25 November 1945
(B) 26 November 1949
(C) 26 January 1950
(D) 15 August 1947

24. Who said, “Swaraj is my birthright”?
(A) Gandhi
(B) Nehru
(C) Tilak
(D) Gokhale

20. 7Y 9 TR e foa o sl serr et
ST SIS S 7 : 51 13 | <3 Afgulens gy
I TETE SIS AAGF 2 1 3,47 : 53999 : 11
e agi ifiE W wew e w1 e wee
weite T Tl

(A) 11:14
(B) 14:17 .
(€) 9:16
(D) 12:13

21, Wa:b=3:5aRb:c=7:8 3, OTA
2a:3b:7¢c TS
(A) 42:105:280
(B) 15:21:40
(C) 6:15:40
(D) 30:21:350

22, ©iwei WA Aew A4 iy GEw
(A) & 25, ot
(B) &g fAcz
(C) == Ficz
(D) T&. fo. wewmsa

23. ©iFTed R @ AE JFe W
(A) 25+0o99 1945
(B) 26 ST 1949

(C) 26 TS 1950

(D) 154155 1947

24, “FAG SN THTS SED 9% B T 2
(&) oI o
(B) Gtz
(C) oo

(D) ¢St




25. A and B can do a piece of work in 12 days;
B and C can doitin 15 days; C and A can doitin
20 days. A alone can do the work in

(A) 15% days

(B) 24 days
(C) 30days
(D) 40 days

26. Incomes of A, B and C are in the ratio
7 :9:12 and their expenditures are in the ratio

8:9:15.IfA’ssavingis % ofhisincome, then the

ratio of savings of A, Band C'is
(A) 56:99:69
(B) 99:56:69
(C) 69:56:99
(D) 99: 69 : 56

27. Ali travels a distance of 300m in 2 minutes
and 30 seconds. What is his speed in'’km/hr?

(A) 69
®) 71
(©) 72
(D) 7-3

28. The Speaker of the Rajya Sabha is
(A) Prime Minister of India
(B) Vice-President of India
(C) Chief Justice of the High Court
(D) President of India

AMRIf22

25, A2 B G0 e 12 i 9490 2\IE; B 93
C 15 fa1; C 92 A 20 T 09 #Hlid | A 9168

(A) 15%1%?{
(B) 24T

(C) 30T
(D) 40 fu=

26, A, B 9R C-97 W@ S 7:9:12
TR SR LSS 8 : 92 15 14 A oie Sicas
%w@awm,wms«: C-93 AR
TRoIE TS

" (A) 56:99:69

(B) 99:56:69
(C) 69:56:99
(D) 99:69:56

27. i 2 TG 30 eiee 300 b 7oy wifees

© a | /TS e Ao Fe e

(A) 69
B) 7:1
C) 72
D) 73

28, e TS ST @
(A) SIS AE
(B) SHTed Soaigeife
(C) T2 IEa el Koo
(D) ©RTeR AHfS

Please Turn Over
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29. Two vessels arefilled with mixtures of milk
and water in the ratio 3 : 2 and 6 : 5 respectively.
In what ratio should these mixtures be mixed so
that the ratio of milk and water in the final mixture
becomes 4 : 37

(A) 6:13
(B) 9: 14
© 10:11
(D) 5:8

30. A bus travels first half distance between
two places with a speed of 40 km/hr and the
rest half distance with a speed of 60 km/hr. The
average speed of the bus is

(A) 42 km/hr
(B) 50 km/hr
(C) 46 km/hr
(D) 48 km/hr

31. Vitamin C is present in
(A) Neem
(B) Lemon
(C) Milk
(D) Carrot

32. The Chemical name for common salt is
(A) Sodium Fluoride
(B) Sodium Chloride
(C) Potassium Cyanide
(D) Potash

33. Find the value of;
(243)% x32n+1
LY 3:1—1
(A) 9
(B) 37
(©) -l
(D) 27

A
Ty -

29, 76 N TUF 3:2 @R 6 : 5 TS HY
QR TCET Tl O S, | o] S 1100 R e dy
fiftre st Tgw frit 78 9w SRie @
4:3¢

(A) 6:13
(B) 9:14
(©) 10: 11
(D) 5:8

30. @ A1 9 TR W BAT A T
40 TR/ 5701 oifste = A1 wede Fag 60 fR6f3l Bt
sfere wiods 03 | AT 1@ 5 To?

(A) 42 Fefa/webt
B) 50 f&fr/ a5t
(C) 46 f&fi/asst
(D) 48 Bf/a%

31. feuifm C @ ImpEEy ohewm T—
(A) =
(B) #fterg
€ &
(D) "

»

32. YIRS T IS A A
(A) e Grivize
(B) FNSTN @Y
(C) ~Gifmm Ammize
D) e

33, a R i e
- (243)% x 32041
(A) 9
B) 3
(C) 3n-1
(D) 27




34. “Anandamath” was written by
(A) Bankim Chandra Chatterjee -
(B) Sarat Chandra Chatterjee
(C) Rabindranath Tagore -
(D) Rashbehari Bose

35. Fahien had visited India during the reign of
(A) Harshavardhan
(B) Yasovarman
(C) Chandragupta Maurya
(D) Chandragupta Il Vikramaditya

36. The First Woman Ruler to sit on the throne
of Delhi had been

(A) Abeda
(B) Zubeida
(C) Rokeya
(D) Razia

37. India became a Republic in
(A) 1951
(B) 1949
(C) 1950 h
(D) 1948

38. The Aihole Prasasti is associated with
(A) Samudragupta '
(B) Vishnugupta
(C) Pulekeshin IT
(D) Rajendra Chola

C9-

AMRI22

AT T (TAF-GF T
(A) T SLEIwAIE

(B) *IIS5H BIGIAIGIT

(C) AHY T

(D) R

4.

35. % REm A9 qereE SIS EE—
(A) R '
(B) TARE
(C) vmed ony
(D) faSh varee Rty

36. e wfer =ihve AW e P Iom—
(A) wml
(B) TRiRwt
(C)

' (D) Wit

37. SFeY ATy (@ A (WiEs &
(A) 1951
(B) 1949
(C) 1950
(D) 1948

1

38. wize 2% e W 3e
(A) TEeY
(B) Rpad
(C) oo eI

(D) A (et

Please Turn Over
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39. Milk is a rich source of - 39. 74 e e a—
’ (A) Vitamin C ' ) i (A) &oifim C
(B) Calcium (B) =REN
(C) Potash ©) o
(D) Carbide
(D) sidize
Ky
40. The Saptaratha Temples at Mahabalipuram 40. STREER A WFrcaR el feem i
were built by the N | (A) G T2 )
(A) Cholas
(B) Chalukyas (B) DI <
(C) Pallavas (©) mT=A
(D) Pandyas . (D) =M <
41, World Environment Day is observed on 4L Ry HAfsea et siifere = o1 faei—
(A) June 4 i ) . (A) T4
(B) June 5 _ (B) T 5
(C) April 4 ) ©) <RF 4
(D) April 5
e : (D) «fé 5
42, If7:x=17-5:22-5, then the value of x is 42. A7 1 x=17"5 : 225, OTA - AN FG? .
(8) 6 (A) 6 | !
- ®) 8 ®) 8 E
; ,. © 12 © 12
(D) 9 : (D) 9
|
43, Onselling anarticle atacertain price,aman 43. 3 iR ey @l Bem [/E s
gains 10%. On selling the same article at double TG JiE 10% T @ | 972 Tl ﬁ@q i
the price, gain per cent is | e v TS *Slen TS A2
(A) 20% (A) 20%
(B) 100% (B) 100%
‘ (©) 120% (©) 120%
| (D) 140% (D) 140%




44, The Chief Justice of the Supreme Court of
India is appointed by the

(A) Prime Minister of India
(B) President of India

(C) Vice-President of India -
(D) Lok Sabha

45. Raniganj is famous for one of the following
minerals:

(A) Iron
(B) Mica
(C) Coal
(D) Diamond

46. The average of 50 numbers is 28. If two
numbers, namely 25 and 35 are discarded, then the
average of the remaining numbers is nearly

(A) 2729
(B) 27-92
(C) 29-27
D) 2972

47. The human body consists of
(A) 205 bones
(B) 206 bones
(C) 204 bones
(D) 203 bones

48. Acharya Jagadish Chandra Bose was a
famous '

(A) Singer
(B) Poet

(C) Scientist
(D) Politician

C-11 AMRI/22

44. ST AfAN @G == Revifers Fye
AT

(A) SRCSH LawaE
(B) ©Tog qgAf®
(C) ©rRETea SogHfe
(D) FTe

45, FafaRe dfte sl afeng shemt s
(A) =Y
(B) &g
() TN
(D)

46. 50 f5 TRap= 1% 28 1 T 56 vean, @ 25°
@2 35 QM (6T 2, W SRAE TRgrafem o1g -
(=) 367 "'

(A) 27:29
(B) 2792
(C) 2927
(D) 29-72

v

47, N (TR SFF 7L 2=
(A) 205
(B) 206
(C) 204
(D) 203

48. iy Tl v 9 R e RS
(A) SIS
B) 3R
(©) Rt
(D) AR T

Please Turn Over
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49. Doctor’s Day is celebrated on
(A) July 2
(B) Juiy 1
(C) Tune 4
(D) June 5

50. A, B andCinvested Rs. 26,000, Rs. 34,000
and Rs. 10,000 respectively in a business. At the
end of the year, they earn a profit of Rs. 3,500.
B’s share of profit is

(A) Rs. 1,200
(B) Rs. 1,500
(C) Rs. 1,700
(D) Rs. 1,900

51. Theauthorof “The Story of My Experiments
with Truth” had been
(A) Netaji Subhas Chandra Bose
(B) Gopal Krishna Gokhale ~ *
(C) Mahatma Gandhi
(D) Aurobindo Ghosh

52. By selling 100 pencils, a shopkeeper gains
the selling price of 20 pencils. His gain per cent is
(A) 25%
(B) 20%
©) 15%
D) 12%

33. The Akbar Namah was written by
(A) Abdul Hamid
(B) Faizi
(C) Abul Fazl
(D) Firoz Shah Tuglaq

4

49, B fi Ao =
(A) IR 2
(B) TR 1
(C) w4
(D) ¥ 5

50. 90T A, B 9% CIUEH 26,000 51,
34,000 %1%t @32 10,000 it Riveatet w02 | qeeg
(403 ©i 3,500 BI%61 F1S FCH | B-47 Fi0ed S5 7

(A) 1,200 Sl .
(B) 1,500 Bt
(©) 1,700 Bet
(D) 1,900 Gt

51. “The Story of My Experiments with Truth”
47 (@ Tege '
(A) GTeifer TerpE 7
(B) Coteii= e (AT
(C) =11 sl
(D) wafew (IR

52. 100 ¢St R st ooem i 208
coifFrer [fers o0 oire 93 | IR aTited <ot ==
(A) 25%
(B) 20%
©) 15%
D) 12% ]

53. Hiwqy WAy el BEw
(A) = Jfm
(B) =&

(C) =g Towe
(D) s >z gueie
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54. A man walks I km on Ist day, 2 kmon 2nd 54. agoa R AL e 1 7, R e 2 /6,
day, 3 km on 3rd day and so on. The total distance @qﬁm 3 3 Beita 3 | =Tielt 10w b Te
the man covers in 10 days is Y e A2
(&) 40km (A) 40 =¥
®) 50 kn B 50 &f
(C) 55km : (B)
(D) 58 km (C) 55 &M
(D) 58 &ft
55. If Manish walks 20 km/hr faster, then he 55, wamt aW 20 Ff/6 wo Ioen e
will save one hour to travel a distance 600 km. 5 600 Rt 1ag @re 1 995t 7 distos |
What is the usual speed of Manish? THeE el o e '
((g; igg km/hr (A) 100 Refi/aeBi
©) 150 km | (B) 120 /=25
M) 160 km/hr (C) 150 /=i
(D) 160 fI/9°51
§6. The First Battle of Tarain took place in 56. SRR~ AL IO Hiot
(A) 1192 AD. (A) 1192
(B) 1191 AD. . (B) 1191
(C) 1205 A.D.' (C) 1205
(D) 1206 A.D. . (D) 1206
57. Which one among the following is the 57. ﬁ'ﬁﬁﬂ@@ﬁ?{ Y I IO 00 2
largest? A 7
7 ( ) ‘9_
A 3 1
1 B)
®) .
3 © 3
4
© 3 10
ST | ®) 35
( 13
58. Plague is a disease caused by 58, (o RN qET A T
(A) Mosquito ' (A) I
(B) Rats . (B) 3@
(C) Bats ©) T
(D) Birds y
(D) #iR

Please Turn Over
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59. Rajuand Param starta journey. Rajumoves
northwards at a speed of 20 km/hr and Param
moves southwards at a speed of30 km/hr, How far
will be Param-from Raju after 60 minutes?

(A) 24 km
(B) 50 km
(C) 42km
(D) 30km

60. The difference between compound and
simple interest on Rs. 8,000 at 5% p.a. for 3 years is
(A) Rs.50
(B) Rs. 60
(C) Rs. 61
(D) Rs. 600

: .
61. If the side of a square is increased by 30%,
then its area is increased by
(A) 9%
B) 30%
(©) 60%
(D) 69%

62.

Carrots are rich in
(A) Vitamin B
(B) VitaminC
(C) Vitamin A
(D) Vitamin D

63. The average of 6 observations is 45.5. If
one new observation is added to the previous .
observations, then the new’ average beComes 47
The new observation is

(A) 58 !
(B) 56
(C) 50
D) 46

i
o e

C-14

"59.71g @+ T Q¢W|mzo%ﬁ/ﬂ=ﬁ
@tﬂ@@ﬁ@nﬂﬁxwmﬁﬁ/ﬂ‘ﬁ@ﬁﬁﬂﬁw
ﬂmwmoﬁﬁ%ﬂwﬁcwmwwanm?

(A) 24T -

(B) 50&H

(©) 42 [

(D) 30=H .

60. 3 IIT & 5% IRF E 8,000 Biwww
bR o G3R T AT TG A 27T
(A) 5051
~ (B) 60
(C) 61 %=
(D) 600 Bt

61. T < IwET A 30% I = =,
IR T CFIF FO Iy AT 2
(A) 9%
(B) 30%
(©) 60%
(D) 69%

i

62. aiwa (1 fobifim @o-q ops—
(A) foBife B
B) Fofmc
(©) R5iRm A
(D) feoifim D

63. 6 T TweE T = 4551 TW S
NG, X 93 g, AT el 3 =,
w:@mmmmwﬁﬁ

(A) 58
(B) 56
(©) 50

D) 46




64. The respective ratio among the speed of a
bike,avanand alorry is 3 : 5: 2. The speed of the
van is 250% of the speed of the lorry which covers
360 km in 12 hours. What is the average speed of
the bike and the van together?

(A) 60 km/hr
(B) 62 km/hr
(C) 64 km/hr
(D) 63 km/hr

65. If

o|e
th| W

% ,thenthevalueofa: b:cis

E »
(A) 7:9:15
B) 7:9:5
(C) 21:35:45
(D) 7:3:15

66. Find the value of:

S S TN
1x2 2x3 3x4

(A)
B)-

©)
(D)

L1
" ox10

|e 3|~

bt s
o

67. ThePresidentofthe G-20 Group of countries
is :

(A) Australia
(B) Canada
(C) Brazil
(D) India

C-15
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64. <36 12T, G B IR GF #iET Sl

SRS 31 5 : 2 1 SR AT wiida aifeq 250 =it

 F1 12 99518 360 RS o 01 | 312 ¢ oI oig
S 97T T2

"(A) 60 R/
(B) 62 /a6
(C) 64 Tf/a%1
(D) 63 Ff/a%r

65. 5
c

T, a: b cEd NN FEY

Ll

a 7
59
(A) 7:9:15
B) 7:9:5
(C) 21:35:45

(D) 7:3:15

66. Wi T T ¢
1,1 1
1x2  2x3  3x4

(A)
(B)

©
(D)

1
+9><10

e |-

—_
(==

67. G-20 (IBIeF oriafer Teiefs 2oy
(A) =CEFm
(B) F=rE!
(©) afEm
(D) =1Te
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68, The compound interest on Rs. 20,480 at
'6% % per annum for 2 years and 73 days is
(A) Rs. 3,000
(B) Rs. 3,131
(C) Rs.2,929
(D) Rs. 3,636

69. Two pipes A and B can fill a tank in
15 minutes and 20 minutes respectively. Both the
pipes are open together. But after 4 minutes pipe

A is turned off. What is the total time required to_

fill the tank?
(A) 10 min; 40 sec.” ' -
(B) 11 min. 45 sec.
(C) 12 min. 30 sec.
(D) 14 min. 40 sec.

70. The Panchayati Raj system was introduced
+ in India by one of the following amendments

(A) 72nd
(B) 73rd
(C) 70th
(D) Tlst

71. Apipe can fill a tank in x hours and another

" pipe can empty it in y (y >x) hours. If both the

pipes are open, in how many hours will the tank be
filled?

(A) (x—y) hours
B) (y — x) hours
(C

C-16

68 20430%@%2@73%%?{@’@
6= 7 % T 5T
. (A) 3,000 Bt
(B) 3,131 %l
(C) 2,929 5=t
(D) 3,636 it

69. 6 *ii%~ A 9<% B 6 Byt 3tere 15 R -
R 20 G ©fS Fae g | Ten #AizA g
CAET ax | v 4 TS0 719 A AR Tn vt onel
S TTT FS WY AL

(A) 1055 40 ces
(B) 11 5 45 e
(C) 12 Fif45 30 e
(D) 14 5 40 iz

70. SIS ~HAS AR JIR A KR
RS Aeedi arar e

‘(A) 7299
(B) 73w
(©) 70%
(D) 7l

71. &3 AR x I G B 2139 FI0S A
GR S0 y (y > x) oI «fb Aifer Fare Sl
. Boy sifRel G G AT, Bl T weBry sl
7q? -

(A) (x~y) oW
(B) (y—x) ¥
(C




72. Cornea is present in the
(A) Ear
(B) Eye
(©) Nose
(D) Stomach

73. The First Vice-President of Independent
India had been

(A) C.Rajagopalachari

(B) Dr. Zakir Hussain

{C) Dr. S. Radhakrishnan

(D) Maulana Abul Kalam Azad

74. Minamata Disease is due to
(A) Sulphur
(B) Nitrogen
(C) Mercury
(D) Potassium

75. The average of m numbers is n* and
the average of »n numbers is m*. The average of
(m + n) numbers is

(A) mn

B) m?+ n?

(C) mn (m*+n*)

(D) mn (m*+ n*—-mn)

76. Blood has one of the following groups:
(A) M
(B) N
) O
(D) P

C-17 ' AMRI/22

72, A R T R TRET—
(A W
(B) G
©
(D) AFZR

73. A ©IRCT AN SRS o
(A) . Frestetiesa
®B) ©. wifRET
(C) ©. 97 TITAR
(D) GleT! I FlAw Sein

74. fReiGt civem o184 <&
(A) eTeg
(B) wiz@ices
(C) =fsm
(D) =i

75, m AT SIC T 1t G3% n AU A6 5 m |
(m + n) "R ¢ FTO ¢
(A) mn
(B) m*+ n?
(C) mn (m*+n?
(D) mn (m*+ n*—mn)

N

76, RS qT TeT o ¢
(A) M
(B) N
© 0
D) P
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77. The Father of the Indian Constitution was
(A) Nehru
(B) M. N. Roy
(C) B.R. Ambedkar
(D) C.R.Das

78. Darjeeling district is famous for
(A) Coffee
(B) Cocoa
(C) Tea
(D) Sugar

79. If Rs. 1,000 becomes Rs. 1,400 in 4 years,
then find the rate of interest.

(A) 10%
®B) 5%
(©) 15%
(D) 25%

80. The Sepoy Revolt initially broke out in
(A) Kanpur
(B) Barrackpore
(C) Chitpore
(D) Mirpur

1 .
81. If2=x+ i , then whatis the value of x?
14—

3+l

4

18
@) 3 ,
21
17
13
© 17

®) 3

3]

77. SaOR RRYEE w9 REIE R «fifow
(A) =T
(B) <. 9. F
(©) R. w4, St
(D) Bi.=rE. W

78. wifeler corstl T oy Rero—
)
®) @@
(C) ®
® BH

79. AT IO MG AW 4 I 1,000 BrA
1,400 Gl T2 o
(A) 10% ’
®B) 5%
€) 15%
(D) 25%

80. =il e @4 e T F—
(A) FReF
(B) MR
(C) foesim
(D) fregm

T, R x~IF W FTO ¢

@

21

© 3

.(D)%
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82. Bats navigate in the dark using
(A) Eyes
(B) Nose
(C) Echo
(D) Smell

83. The ratio of two numbers is 3 : 4 and their
sum is 420. The greater of the two numbers is

(A) 175
(B) 200
(C) 240
D) 315

84. Polio is caused by
(A) Bacteria
(B) Virus
(C) Anti-biotic
(D) Medicine

85. The Battle of Plassey was fought between
(A) Mir Qasim and Mir Jafar
(B) Siraj-ud-Daulah and the English East
India Company
(C) Mir Jafar and the French
(D) Shah Alam and the English

86. The ratio of cost price and selling price of
an article is 20 : 21. What is the profit per cent on
it?

(A) 5%
(B) 5:5%
©) 6%
D) 625%

82. T TG Lo FE T ARG —
(A) G4
B) 7=
(C) efowiy
D) =M

83. E%H%WWW&MQ?‘{W@TW'

420 | R 767 TG 08 FYIB =
(A) 175
(B) 200
(C) 240
(D) 315

84. cofiffre G@Ioag FiEd 2=
(A) il
(B) ©RAR
(C) =nifS-is
(D) 87y

85. SR rad Io afewal forem
(A) T FiFm ¢ N wiTs
B) Fram-Sr-oimt 8 Ew o 3R
et
(C) T =iwa ¢ TR
(D) *I1Z SIeT @ BTt

86. «3fb & Ty R RFTETR SFee
25 20 : 21 | SRR 9T 89T FNST Ao TO 7
(A) 5%
(B) 55%
(C) 6%
(D) 625%
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. 58 11
E:nd the L.C.M. of L TR
(A) 280 '
B) 360
(C) 440

(D) 420

88. The First Battle of Panipat took place in

(A) 1521 ’
(B) 1523
(C) 1525
(D) 1526

89. Dr. Meghnad Saha was a famous

(A) Mathematician
(B) Physicist

(C) Chemist

(D) Doctor

.90, AcharyaPrafullaChandraRoywasafamous

(A) Doctor

(B) Chemist

(C) Physicist

(D) Mathematician

1
L

91. Paradeep port is located in

i

(A) Lakshadweep
(B) West Bengal
(C) Odisha

(D) Tamilnadu

C-20

2914

> 8 Ilﬂﬂ?ﬁ*ﬁ\’s efa o=t

(A) 280
(B) 360

" (C) 440

(D) 420

88, siifrsitas 29w & wavs = @ A

(A) 1521
(B) 1523
(C) 1525
(D) 1526

89, ©§ (W A e @ 2qrs

(A) siffem
(B) “mifRm
(C) T mRm
(D) @i

‘ 90 mmwmﬁmww

(A) el
(B) waafw
(C) #Aniefim
(D) sifdem

91, <NaRie T (@AE wﬁé-—

(A) @Rl
(B) ~if*ssa
(C) efe=it

(D) I




92. Which one among the following is the
largest? :

(A
(B)
©
D)

L o)) v w o

93. Two numbers are in the ratio 3 : 5. If each
numberis increased by 10, the ratio becomes 5 : 7.
The numbers are .

(A) 3,5
B) 7,9
(C) 13,22
(D) 15,25

94. The sum of two numbers is 2490. If 6-5% of
one number is equal to 8-5% of the other, then the
greater number is

(A) 1079
(B) 1380
(©) 1411
(D) 1250

95. 5% income of A is equal to 15% income of

B and 10% income of B is equal to the 20% income -

of C. If the income of C is Rs. 2,000, what is the
total income of A, B and C?

(A) Rs. 14,000
(B) Rs. 16,000
(C) Rs. 18,000
(D) Rs. 1,24,000

96. Pisfasterthan Q.P and Qeach walk24km.
The sum of their speeds is 7 km/hr and the sum of

times taken by them is 14 hours. Then P’s speedis

equal to
(A) 3 km/hr
(B) 4 km/hr
(C) 5 km/hr
(D) 6 km/hr

C-21 AMRI/22

92, xRS ARl @R wRww e ¢
(A)
(B)
©

(D

s 0o|~1 v e

93. T YR i 3 : 514 &ffel i 10
RIE! 3% A1 =, O S 5 1 7R | R =
(A) 3,5 .
(B) 7,9
(©) 13,22
D) 15,25

94, W6 ALY e &1 2490 | I G TR
6-5% TIE 8-5%-43 ST+ T, OIRtF 328 UM
= o

(A) 1079
(B) 1380
(C) 1411
(D) 1250

95, A-99 5% S B-aF 15% ST W @]
B-97 10% =¥ C-a7 20% S 797 1 3w C-«a9
S 2,000 B =, SIEE A, B W3z C-97 Gl @i
G :

© (A) 14,0005

(B) 16,000 B
(C) 18,0008/
(D) 1,24,000 51

96. P, Q-99 (517 ¥ FB | P 9R Q TSER

24 50 05 | ©it sifen qeiwa 7 RR/Te0t @

ST (ST AR ST 14 9951 |91z P-97 5if®
T9?

(A) 3 Rhi/a
(B) 4 ff/=H!
(C) 5 Refa/aeB
(D) 6 R/t -
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97.

Cactus is found in the
(A) Polar Regions
(B) Desert

(C) Moon

(D) QOcean

98. What is the interest of Rs. 300 at the rate of
11% for 5 years?

(A) Rs. 150
(B) Rs. 165
(C) Rs. 120
(D) Rs. 200

99. Pragyan is associated with

(A) Missile Technology
(B) Space Research
(C) Oceanography

(D) Climate

100. Which ofthe following numbersis divisible

by 3?

(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

C-22

97. G-I ST SEw
(A) GRF S
B) wwel
(©) B\
(D) ¥4

98. 300 BISIF 11% 2R 5 AT 3] T 7
(A) 150Gt
(B) 165 HrAt
(C) 1205
(D) 200 Btz

99, ‘awi~a3 W (¥ nERe RRom o
‘q\@—
(A) CFHIE oY
(B) i feaw
(C) g R
(D) w2y

100. esx (I Wi 3 Al Rrsrey ¢
(A) 24357806
(B) 35769812
(C) 3336433
‘(D) 83479560
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1. IfRs. 1,000 becomes Rs. 1,400 in 4 years,
then find the rate of interest.

(A) 10%
B) 5%
(C) 15%
(D) 25%

2. PisfasterthanQ. Pand Q each walk 24 km.

The sum of their speeds is 7 km/hr and the sum of
times taken by them is 14 hours. Then P’s speed is
equal to

(A) 3 km/hr
(B) 4km/hr
(C) 5km/hr
(D) 6 kmv/hr

3. The First Vice-President of Independent
India had been

(A) C.Rajagopalachari

(B) Dr. Zakir Hussain

(C) Dir. S. Radhakrishnan

(D) Maulana Abul Kalam Azad

4. Darjeeling district is famous for
(A) Coffee
(B) Cocoa
(C) Tea
(D) Sugar

5. The ratio of cost price and selling price of
an article is 20 : 21. What is the profit per cent on
it?

(A) 5%
(B) 5:5%
(C) 6%
(D) 6:25%

D2

1. T & Weid AW 4 I 1,000 BiA
" 1,400 Bl A ?
(A) 10%
(B) 5%
(C) 15%
(D) 25%

2. P, Q99 W w9, AF | P 9k Q Ter
24 Rl 5 | o S qtaiwet.7 /B axg
St AT TR @I5Fe 14 961 | SIRg= P43 sffe
TG ?

" (A) 3 feh/ast
(B) 4 BR/a%5
(©) 5 /a6
(D) 6 /et

3. TR ©rarea g Gl fegem
(A) B STt
(B) ©. HRFARITH
(C) . @ LIFAH
(D) GlETH SgE FeTs S

4. TR comn T T Ree—
S (A I
(B) I
(O
(D) B

5. 7% R TTED R R e
% 20 : 21 | OIA OF 84T AT =[0I T 2
(A) 5%
(B) 5-5%
(C) 6%
(D) 625%




6. BRICS relates to
(A) Group of Countries
(B) Chambers of Commerce
(C) Political Parties
(D) NGO

7. Plants manufacture food through
(A) Photosynthesis”
(B) Respiration ~ "=
(© Transpiratio_n e
(D) Evaporation

f \:'F“Pl ﬁ

8. Ram and Shyam together can, finish a job

in 8 days. Ram can do the same job on his own in
12 days. How long will Shyam take to do the job
by himself?

(A) 16 days

(B) 20 days

(C) 24 days

(D) 30days

9. Apipe can fill a tank in x hours and another
pipe can empty it in y (y > x) hours, If both the
pipes are opeft,.in how many hours will the tank be
filled?

" (A) (x—y)hours
(B) '(y —x) hours *

© x?iy' hours

X
(D) y—x hours

10. The average of 15 numbers is 7. Qut of
them the average of first 8 numbers is 6-5 and the

average of last 8 numbers is 9-5. The middle
number is

(A) 21
(B) 22
(© 23
(D) 24

D-3 AMRI22

6. BRICS 3=
(A) TS o
) TE AT -
(C) TS v
(D) CFR=IGR (AN

7. slitedt 3 Bestim F Faie e

(A) AR '
B) Sfer W

(C) T -2

" (D) Sfeme It

8. AN GFAL 8 T 96 T R T
TR | TTer 63w e 12 i 409 A 1551w
e siul Fare Fou T @@

(A) 16 -
B) 2007
(©) 24f=
(D) 304w

9. G35 A%t x IO Gf it 7 FHCS AR

GRS y (> %) T B A TS A | 2

Ty #ligst @M e AT, BiE @ weBr o
¥Ee

(A) (x—y) T
(B) (y—x) ¥
© 725 *

x .
D) 52 T

y

10. 15y ez 7 1970 299 8 T oRk=
4T 6-5 93 (<13 8 b TRAIT 1% 9-5 1 MR RAT 2
(A) 21 ' -
(B) 22 '
(©) 23
(D) 24

Please Turn Over




AMRI/22

11. Who said, “Swaraj is my birthright”?
(A) Gandhi
(B) Nehru
(C) Tilak
(D) Gokhale

12, Rajuand Paramstartajourney. Rajumoves
northwards at a speed of 20 km/hr and Param
moves southwards at a speed of 30 km/hr. How far
will be Param from Raju after 60 minutes?

(A) 24km
(B) 50 km
(C) 42km
(D) 30km

13. The Saptaratha Temples at Mahabahpuram
were built by the

(A) Cholas
(B) Chalukyas
(C) Pallavas
(D) Pandyas

14. Plague is a disease caused by
(A) Mosquito
(B) Rats '
(C) Bats
(D) Birds

15. The Panchayati Raj system was introduced
in India by one of the following amendments:

(A) 72nd
(B) 73rd
(C) 70th
‘ (D) 71st

11, T S TS i 92 Bieh g 2
(A) it
(B) z®
(C) fomim
(D) oM

12. g8 W Tial.ow$ae1.| [ig 20 Bhl/95
et Bt T 3~ 30 Bl /4551 st vl face
e e | 60 TG =191 20 (AT ~Aw T© 90 A ?

(A) 24 B '
(B) 50 fH
©) 270
D) 30 M

13. SRIRAACE AT T Frliet ferem
(A) (% a2,
(B) Blegg I
OEGRES
(D) ey a2t

14. (B SIS SE e 2
(A) st
(B) ¥

(©) AT
(D) i

15. Wﬂmwwﬁa@wxﬁw
ICEGIECRRQIECIRIEIE

(A) 7299
(B) 73
(C) 70w
(D) 71%%



16. Doctor’s Day is celebrated on
(A) July 2 '
(B) July 1
(C) June 4
(D) June 5

17. Alitravels a distance'of 300m in 2 minutes -

and 30 seconds. What is his:speed in km/hr?

(A) 69 - :
B8) 71 BT
(C) 72 )
D) 73

18. On selling an article at a certain price, a
man gains 10%. On selling the same article at
double the price, gain per cent is

(A) 20%

(B) 100%
(C) 120%
(D) 140%

19. 5% income of A is equal to 15% income of
B and 10% income of B is equal to the 20% income
of C. If the income of C is Rs. 2,000, what is the
total income of A, B and C?

(A) Rs. 14,000
B) Rs. 16,000
(C) Rs. 18,000
(D) Rs. 1,24,000

20, If7 :x=17-5:22-5, then the value of x is
(A) 6
B) 8
© 12
(D) 9

AMRI/22

16. HR<s = e =
(A) R 2
B) TR 1
©) w4
(D) & 5

17. =ie 2 A 30 it 300 Fib vag sifees
<[ | i/ e%m oF aifema Fo¢
(A) 69
®) 71
- (© 72
(D) 7-3

18. <3 % e w3 fm /fF Fw=
GFT P 10% #1S IR | @3 & Rad e
R TaE T *oi &fe 71

(A) 20%
(B) 100%
(©) 120%
(D) 140%

19. A-99 5% W B-a9 15% HIAT A4 G,
B-949 10% 9¥ C-49 20% @< 79+ | 3% C-97
w1 2,000 GBI =7, ©igE A, B @38 C=A9 (G 91F
TO?

(A) 14,000 Bi=
(B) 16,000 Bt
(C) 18,000 Br
(D) 1,24,000 it

20. M7 :x=17-5: 22-5, OFHA - IT WA FS?
(A) 6 |
(B) 8
(€ 12
(D) 9
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21. Two pipes A and B can fill a tank in
15 minutes and 20 minutes respectively. Both the
pipes are open together. But after 4 minutes pipe
A is turned off. What is the total time required to
fill the tank? .

(A) 10 min. 40 sec.
(B) 11 min. 45 sec.
(C) 12 min. 30 sec.
(D) 14 min. 40 sec.

22, Whichofthe following numbers is divisible
by 37
(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

23. The compound interest on Rs, 20,480 at

6% % per annum for 2 years and 73 days is
(A) Rs., 3,000
(B) Rs. 3,131
(©) Rs.2,929
(D) Rs. 3,636

24. “Anandamath” was written by
(A) Bankim Chandra Chatterjee
(B) Sarat Chandra Chatterjee
(C) Rabindranath Tagore
(D) Rashbehari Bose

N

25. Paradeep port is located in
(A) Lakshadweep
(B) West Bengal
(C) Odisha
(D) Tamilnadu

. 21. %G 725 A 932 B 9316 Bjim aQi@Ts 15 TG
G 20 R ©f% Fare «iig | T AR g me
CalIeT = | 5 4 TG =171 A #1i2eif6 <z i BniEle
S Z[0 T© AT TN ?

(A) 10 fifG 40 IS

(B) 11 {06 45 i

(C) 12 T3+ 30 cies

(D) 14 WG 40 S

22. N9 @R WA 3 Tt Ry e
(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

23. 20,480 Biin ot 2 qem 73 Temm o 9iRE

6 % 20 S 71
(A) 3,000 Bt
(B) 3,131 %
(C) 2,929 Biw
(D) 3,636 B

24, ‘NS ~GT AT A
(A) IEToH GEIHGE
(B) *[A<5H GIGISiIGR
(C) FAT 3T
(D) ariRIs =7

25. <R I9F @I SRE—
(A) Friat
(B) sif¥5aae
(C) e
(D) wifieTrg
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26. Blood has one of the following groups:
(A) M
(B) N
© O
(D) P

27. The First Battle of Panipat took place in
(A) 1521
(B) 1523
(C) 1525
(D)- 1526

28. The Akbar Namah was written by
(A) Abdul Hamid
(B) Faizi
(C) Abul Fazl
(D) Firoz Shah Tuglag

29, Two vessels are filled with mixtures of -
milk and water in the ratio 3:2 and 6:5
respectively. In what ratio should these mixtures,
be mixed so that the ratio of milk and water in the
final mixture becomes 4 : 37

(A) 6:13
(B) 9:14
(C) 10:11
D) 5:8

30. A,BandCinvested Rs. 26,000, Rs. 34,000
and Rs. 10,000 respectively in a business. At the
end of the year, they earn a profit of Rs. 3,500.
B’s share of profit is

(A) Rs. 1,200
(B) Rs. 1,500
(C) Rs. 1,700
(D) Rs. 1,900

AMRIR2 .

26, RS Gl e o ¢
(&) M
®) N |
© o .
@®) P ' |

27. SR 25 5 TGS 27 T A=A
(A) 1521 '
(B) 1523
(C) 1525
(D) 1526

28, WIFI AN'F THRS! W
(A) =g 2 '
(B) iR .
(C) == FE=
D) e =iz g

29, ¥ Sliq IUEFH 3:2 9R 6: 5 AT 7Y
| R GTETH AR S R | Gl S R e fe
Fiftre Tam= o et gy 938 G Spile 2|
4:32

(A) 6:13
B) 9:14
(€ 10:11-
(D) 5:8

30. 975 JIHT A, B 93 C IR 26,000 51,
34,000 Bt 3R 10,000 Gt [Rfvcie 39 | a9 @d
(T8 ©IF! 3,500 B! 77© (A | B-aF FI0ST WM 2

(A) 1,200 Sret
(B) 1,500 it
(C)~1,700 i
(D) 1,900 Bi=l.

Please Turn Over
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31. Sushil was thnce as old as Snehal 6 years
back. Sushil will be = times as old as Snehal

6 years hence. How old is Snehal now?
(A) 12 years
(B) 15 years
(C) 18 years
(D) 24 years

32. Acharya Prafulla Chandra Roy was a
famous

(A) Doctor

(B) Chemist

(C) Physicist

(D) Mathematician

33. Incomes of A, B and C are in the ratio
7:9:12 and their expenditures are in the ratio
8:9:15.IfA’ssavingis % ofhisincome, thenthe

ratio of savings of A, B and Cis
(A) 56:99:69
(B) 99:56:69
(C) 69:56:99
(D) 99:69:56

b_% E—é ,thenthevalueofa:b:cis

(A) 7:9:15
B) 7:9:5
(C) 21:35:45
D) 7:3:15

3. If

'35. A boat covers a distance of 30 km in
2% hours running downstream.s.\%/hilq returning,
it covers the same distance in 3.2 hours. What is
the speed of the boat in still water?

(A) 8 km/hr

(B) 12 km/hr

(C) 15 km/hr

(D) None of the above

31. 6 I=F LS RIET I CFRIGT T 3 3
%lﬁmﬂmwmﬂmwgm
A | (RRIETE IS ITH TS 2

(A) 12 3=4
®) 1597
(C) 18q=g
D) 24 IR

32. Wt oiE v AR R @ R
(A) TIER
(B) FIHfH
(©) Ry
(D) sifdee

33, A, B 4% C-99 O SEA® 7:9:12
G OIME JER NS 8: 9 : 151 I A ORI
%wwwwm,wfx,sﬂaa C-97 A

e AC TO?
(A) 56:99:69
(B) 99:56:69
(€) 69:56:99
(D) 99:69:56

1

34, —=%, Telra:b: ¢TI WH F57

nlr:*
u.|u

(A) 7:9:15
(B) 7:9:5
(C) 21:35:45
(D) 7:3:15

35, Wwaﬁmz WBOT@@ '
WWWIWWQ@WE, 1
WW@HW@W%@%TW?

(A) 8 [f/3B
" (B) 12 fhi/eh
(C) 15 Rfst/aeGi
(D) ©HEd IIbE
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36. Find the L.C.M. of 2513

(A) 280

(B) 360

(C) 440

(D) 420

37. The difference between compound and
simple interest on Rs. 8,000 at 5% p.a. for 3 years s
(A) Rs. 50
(B) Rs. 60
(C) Rs. 61
(D) Rs. 600

38. The leader of the Kaivartya Révolt was
(A) Puru A S
(B) Divya oL e
(C) Arjun .
(D) Harsha . P
. AN
CE

Loy 2

39. Which one among the following is the

largest?
7
A 5
11
® T

© 3

@) 13

40. Milk is a rich source of
(A) Vitamin C
(B) Calcium
(C) Potash
(D) Carbide

D9

AMRI22 .

8 11-
5> 14T AL, e )
(A) 280
(B) 360
(C) 440
(D) 420

5
36. 3

37. 3 IS GU 5% <TG @ 8,000 HieE

bergfa I ORI IR TG AL T
(A) 50 B
(B) 60 B
(C) 61 Bt
(D) 600 Bzt

38. (3% IR oI T
(A) o7
®B) faw
(C) g

(D) =¥

39. FfiReskE w0 @HB TREE T2
7.
(A) 6 '

11
®) 1

© =

10
(D) G

40, 7 FEFiRe Yt TE—
(A) ol C
(B) =izt
(C) =for
(D) R

Please Turn Over
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41. Dr. Meghnad Saha was a famous 41, T2 GTSIM D) REH Qe He
(A) Mathematician (A) oo
(B) Physicist (B) A CiCL
(C) Chemist (C) TR
(D) Doctor
(D) ©r=E
42. India became a Republic in 42, SR Eiey (@ AE [@ifFe
(A) 1951 ' (A) 1951
(B) 1949 ' (B) 1949
(C) 1950 (C) 1950
(D) 1948 (D) 1948
43. If Manish walks 20 km/hr faster, then he 43, I W 20 FR/% wo Stcen wigE
will save one hour to travel a distance 600 km. fof 600 TG 729 s 1 9951 i i)
‘What is the usual speed of Manish? TNt TR o 992 '
* (A) 100 km/hr D '
: (A) 100 ff/=e6!
(B) 120 km/hr /Bt
(©) 150 kmy/t (B) 120 /701
- (D) 160 km/hr (C) 150 TR a6t
(D) 160 /a6
44. Anita can cover a certain distance in 44. =i @3 [ e 1 9951 24 G 3

1 hr. 24 min. by covering % of the distance at | WM % T AR 4 R/ @l 9k AF w
4 km/hr. and the rest at 5 km/hr. Find the total 5 FofR/ =Bt el e w0 | (W6 g Fo e

distance. (A) 4B
(A) 4km (B) 5
(B) 5km (€) 6[
(C) 6km (D) 7™
D) 7km
45. The Indian National Congress was founded 45, oFECed T FIAETE dfovl W @ AF—
in the year (A) 1883
(A) 1883 (B) 1884
(B) 1884 (C) 1885
(©) 1885 © 1886

(D) 1886




46. The speed of a car increases by 2 km after
every one hour. If the distance travelling in the first
one hour was 35 km, what was the total distance
travelled in 12 hours?

(A) 456 km
(B) 482 km
(C) 552km
(D) 556 km

47. The average of m numbers is »* and
the average of n numbers is m*. The average of
(m + n) numbers is

(A) mn

(B) m*+n?®

(©) mn (m?+.n%)

(D) mn (m*+ n?—mn)

&

" 3e

i

48. If 2=x+

1
T
343
4

o

e 45.-; .

18
17
21
17
13
17
12
17

(1

@)
(B)
©
1)

49. A 130 m long train crosses a bridge in
30 seconds at 45 km/hr. The length of the bridge is
(A) 200 m
(B) 225m
(C) 245m
(D) 250 m

50. World Environment Day is observed on
(A) June 4
(B) June 5
(C) April4
(D) April5

e
, then whatis the value of x7
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46. 2lfS 99D o7 @l 9SS 2 Reeifisia
Mo | A 2N 9F TOR T 1EY 20 35 [,
12 X1 (ufG wfowre 7oy 7S fBFe '

(A) 456 B
(B) 482
(C) 552 f-
(D) 556 Fhl.

47, mIRE T 25 n* 432 n TRAIT T T m? |

(m + n) YT ¢ F9¢

(A) mn

(B) m?+ n?

(C) mn (m*+ n?

(D) mn (m?+ n*—mn)

~
1
1

l+—

3+Z

48. T 2=x+ o, O 17 W T2

18
17
21
17
13
17
12
17

49. @3 130 o WY G &fS w6 45 /R
@A 30 GIEHTS AF16 (FTg Wieers 3¢ | (FTgft oreff
-

(A)
(B)
© -
D)

(A) 200 5o
(B) 225 fo
(C) 245 f\G=
(D) 250 "

50. R iR i A & &
(A) T4
(B) g 5
(C) «f2e 4
(D) «f¥=5

fir—

Please Turn Over
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51. The ages of Samir and Tanuja are in the
ratio 8 : 15. After 9 years the ratio of their ages will
be 11 : 18. What is the difference between their
ages? ’

(A) 20 years
(B) 21 years
(C) 24 years
(D) 33 years

52. Acharya Jagadish Chandra Bose was a
famous

(A) Singer
(B) Poet

(C) Scientist
(D) Politician

53. The Speaker of the Rajya Sabha is
(A) Prime Minister of India
(B) Vice-President of India
(C) Chief Justice of the High Court
(D) President of India

54. A bus travels first half distance between
two places with a speed of 40 km/hr and the
rest half distance with a speed of 60 km/hr. The
average speed of the bus is

(A) 42 kmvhr
(B) 50 km/hr
(C) 46 kn/hr
(D) 48 km/hr

55. Akash leaves Mumbai at 6 am and reaches
Bangalore at 10 am. Prakash leaves Bangalore at
8 am and reaches Mumbai at 11.30 am. At what
time do they cross each other?

(A) 10 am

(B) 8.32 am
{C) 8.56 am
(D) 9.20 am

D-12

51. FNA @ TR T WA 8 2 151 9 %7
I I THOET S0 73 11 : 18 | SR TR
4T TS ?

(A) 20923
(B) 21 3=
(C) 24 37A
(D) 333=d

52, oR Tel 5 ] e e Rge
(A) e
(B) IR
(C) st
(D) AT (Tt

7

53, ey ASR SYF TEA
(A) ©HETSH LTI
(B) SRS Soaigelfe
(C) 2R @IsT am Rorelfe
(D) oFTsH %ZAS

54. @0 IFT 9% SRR WG AN WA T
40 551/ 9°51 sifieTe «=g 1 e g 60 Reft/ 2Bt
ifere efee T | AT 1S 5fS Fo?

(A) 42 Tfy/a5r
(B) 50 ffat/=<eGi
(C) 46 FRRfr/=Bi
(D) 48 /75t

55. S Ao 661 THIE (A0F RS T AFiA
1051 AT IR | 25 77 8617 A
(AT ST} LG pleT 11.30 RiREG 71 cATreyd | ot
T Ol AT ST SOPN FAE ¢

(A) 10 am
(B) 8.32 am
(C) 8.56am -
(D) 9.20 am
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56. The President of the G-20 Group of
countries is

(A) Australia
(B) Canada
(C) Brazil
(D) India

57. Which one among the following is the
largest?

(A)
(B)
©

D)

w i oo~ sl o

58. The average of 50 numbers is 28. If two
numbers, namely 25 and 35 are discarded, then the
average of the remaining numbers is nearly

(A) 2729
(B) 27-92
(C) 29-27
D) 2972

59. If the side of a square is increased by 30%,
then its area is increased by ' .
(A) 9%
(B) 30%
C) 60%
(D) 69%

60. Ifa:b=3:5andb:c=7:8, then
2a:3b:7cisequal to
(A) 42:105:280
(B) 15:21:40
{C) 6:15:40
(D) 30:21:350

56. G-20 (¥ orialg Tefe 2o
(A) s .
(B) @l
(©) alfem
(D) s

57. FaERe AR Mg (A FIom 09! 2
(A)
(B)
(o)

(D)

th| & 00~ v oy

58. 50 b i o1 28 | it 76 74N, @ 25
TR 35 AW (RST T, OIRGE SRMAE RANSET g
(2 F© 70 -

(A) 2729
(B) 27°92
(C) 2927
(D) 2972

59, M @z fewrar 3k 30% 3% w3,
OIRCA GF (AR T9 % AN
(A) 9%
(B) 30%
(C) 60%
(D) 69%

60. IR a:b=3:54Rb:c=7: 8%, O
2a:3b:7c FORJ?
(A) 42:105: 280
(B) 15:21:40
(C) 6:15:40
(D) 30:21:350

Please Turn Over
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61. One of the following is responsible for
Global Warming:

(A) Nitric oxide
(B) Carbon dioxide
(C) Sulphuric Acid
(D) Nitric Acid

62. Polio is caused by
(A) Bacteria
(B) Virus
(C) Anti-biotic
(D) Medicine

63. The Battle of Plassey was fought between
(A) Mir Qasim and Mir Jafar

(B) Siraj-ud-Daulah and the English East
India Company

(C) Mir Jafar and the French
(D) Shah Alam and the English

64. Carrots are rich in
(A) Vitamin B
(B) Vitamin C
(C) Vitamin A
(D) Vitamin D

65. A and B can do a piece of work in 12 days;
B and Ccandoitin 15 days; Cand A candoitin
20 days. A alone can do the work in

(A) 1_5% days
(B) 24 days

(C) 30 days
(D) 40 days

D-14

61. e Baermre S PRI SRR Rl
(A) 7RG w=RE
(B) T4 Sizwmie
(C) A=TFrefs wnfe
(D) = eIt

62. (AIfENS @IH-9T P TR
(A) TGRE
B) oRAF
©) spifv-ws
(D) &3y

63. %ﬁamﬂﬁﬁ%ﬁfiﬁﬂ
(A) 9 Tfw ¢ e ww

(B) Prere-Bv-dment ¢ 3w T A -

At
(C) 7 wes e T
(D) % = @ BWES

64. oiferd ( TOBIRA wd-q Mg—
(A) FSBEm B
B) foBifm C
(C) i A
(D) 51w D

65. A 933 B 9F% 1% 12 R 909 #itg; B O
C 15 ft; C 9 A 20 Fis 7900 =litg | A 91 62
FEt FI08 Wl (1

(A) 15% i
(B) 24 s

(C) 30fw
(D) 40w




66. The Chemical name for coﬁxmon salt is
(A) Sodium Fluoride
(B) Sodium Chloride
(C) Potassium Cyanide
(D) Potash

67. The First Speaker of the India Constltucnt
Assembly had been

(A) G. H. Deshmukh
(B) Hukum Singh

(C) Swaran Singh

(D) G.V.Mavalankar

68. Minamata Disease is due to
(A) Sulphur
(B) Nitrogen
(C) Mercury
(D) Potassium

69. The Constitution of India was adopted on
(A) 25 November 1945 ~.
(B) 26 November 1949
(C) 26 Jannary 1950
(D) 15 August 1947

70. Fahien had visited India during the reign of
(A) Harshavardhan
(B) Yasovafman
(C). Chandragupta Mali!"ya
(D) Chandragupta Il Vikramaditya -

AMRI/22

66. FIFE] SR IR 1 21
(A) T Graze
(B) FITN GaiRe
(€) ~ifRms immiRe
(D) =Bt

67, OO R e e e

(A) T @2, (Y
® =P
(C) 34 Pz

(D) f&. fo. Treieza

68. A @ i@ ==
(A) AETFE
(B) ArR@EH
(C) “Arm
(D). “fBrfam

' 69. ST TR @ A RS ;W

(A) 25 oTa 1945
(B) 26 7e=< 1949
(C) 26 Tt 1950
(D) 15955 1947

70. T BEe 49 iG] OR0e Sem—
(A) TR
(B) TR
(C) voag Y -
(D) ﬁ@nm@ﬁmﬁ‘rj

Please 'Ihrn Over
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71. The respective ratio among the speed of a 71, 4% qiET, 0 OIN K2 G0 ART AfeT
bike, a van and alorryis 3 : 5: 2. The speed of the GRS 31 5 : 2 | QI oI wteE AT 250 Mt
van is 250% of the speed of the lorry which covers T 12 951360 iR wfoem 01 1 9135 6 ST 5
360 km in 12 hours. What is the average speed of B . ’
the bike and the van together? i

(A) 60 km/hr (A) 60 i/t
(B) 62 km/hr (B) 62 /=%t
(C) 64 km/hr (C) 64 /=t

(D) 63 km/hr (D) 63 /95l

72. The Aihole Prasasti is associated with 72, S%zE % I 0w T
(A) Samudragupta ' ‘ (A) TR
(B) Vishnugupta (B) Rgeny
(C) Pulekeshin II

(D) Rajendra Chola (C) e st
(D) IS I

73. The Chief Justice of the Supreme Court of 73. SRS/ & @Ida 4w Rotaeifers g
India is appointed by the

FEH
(A) Prime Minister of India (A) SRTOT AR
(B) President of India i

B). ©iAres A
(C) Vice-President of India ®), i

(D) Lok Sabha (C) ©ired Toages
(D) TSl

74. The Father of the Indian Constitution was 74. SixoT WRUET we Bewe {F ot
(A) Nehru ( A)- Clews

(B) M. N. Roy (B) @ . T
(C) B.R. Ambedkar

(D) C.R.Das | (€) & o=, wimea
(D) ™. ==, Wi

75. Water is composed of _ 75. TE-4 (@ 6 TS Gl Site—
(A) Hydrogen and Ozone (A) QTGS R ST&
(B) Hydrogen and Oxygen (B) ZI3SITe ¢ SREw
(C) Nitrogen and Oxygen
C) TREITH 3R SE¥ew
(D) Chlorine and Oxygen © o

(D) i aag e




76. Two numbers are in the ratio 3 : 5. If each

number is increased by 10, theratio becomes 5: 7.

The numbers are
(A) 3,5
B) 7,9
(C) 13,22
(D) 15,25

77. Sasanka was the King of
(A) South India
(B) Gujarat
(C) Gaur
(D) Malbhum

78. Who was known as Alamgir?
(A) Shah Jahan
(B) Jahangir
(C) Aurangzeb
(D) Akbar

79. The distance from the town A tothetown B
1s 5 miles, C is 6 miles from B. Which of the
following could be the maximum distance from
Ato C?

(A) 11 miles
(B) 8 miles
(C) 2 miles
(D) 4 miles

80. A man walks 1 km on 1st day, 2 km on 2nd
day, 3 km on 3rd day and so on. The total distance
the man covers in 10 days is

(A) 40km
(B) 50 km
(C) 55km
(D) 58 km

D-17
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76. 6 G A 3 : 51 7% A AT 10

R e 91 <, SiRlE SRpslie 5 : T@Iﬂ\?ﬁmﬁiﬁ
(A) 3,5
_(B) 17,9
(©) 13,22
(D) 15,25

77. *ME @ SR A e G @@
(A) W% IS
(B) wTEiG
©) g

(D) T

78. SENAR T & AfRfES R
(A) =g s
B) wRAE
(C) 8FHER
(D) W%

79. *1ZF A (U B-9F TG 5 WA 93¢ B (U
CﬂﬁWGWI%@HﬁACWC—@?W
T T A ?

(A) 11 %iEs
(B) 8 i
(C) 2w
(D) 4 wig=t

80. . < SRR 2 et 1 fofE, ot i 2 /63,
Wﬁmﬁsﬁ@wﬁmlmﬁmﬁmmw
TG SO FAC P

(A) 40 Rl
(B) SO
(©) 55
(D) 58 B

Please Turn Over
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81. The average of 6 observations is 45.5. If 81. 6 & “=Fed s = 4551 I ‘PB/?@
oge new obse;vatigln is added to glc previc:;s ey Ao 96 Ao Fw @ e &,
observations, then the new average becomes 47. : P
The new observation is OTRCA YA T T 47 | TG A0 T

(A) 58

(A) 58 ®B) 56
56

(B) {C) 50

(€) 50 | D) 46
D) 46

82. The First Woman Rulertositonthethrone | - 82, &% wi3a *P/s &R fife Siaemm IGW—

of Delhi had been ' (A) S
(A) Abeda
: B) waianm
(B) Zubeida . ®)
(C) Rokeya : ©) @i
(D) Razia ’ (D) e
83. Raniganjis famous for one of the following 83, fFmlaie 4fer Anief aifsteg stheat T
minerals: (A) @ :
(A) Iron B) ©F
(B) Mica - ,
(C) Coal ' (©) ==
(D) Diamond (D) 2=
84. Find the value of: 84, W T Tt 3 :
S S N 1 o] ) 1 1 1 1

Tx2  2x3  3x4 9x10 %2 7x3  3xd T oxio
1 ‘ » 1

®) 1o @ 5
9. 9

® % ®) 35

O 1 O 1

(D) 10 ' (D) 10




85. Theauthorof“The Story of My Experiments
with Truth” had been

(A) Netaji Subhas Chandra Bose
(B) Gopal Krishna Gokhale

(C) Mahatma Gandhi -

(D) Aurobindo Ghosh

86. The ratio of two numbers is 3 : 4 aﬁd their
sum is 420. The greater of the two numbers is

(A) 175
(B) 200
(C) 240
(D) 315

87. Whatis the interest of Rs. 300 at the rate of
11% for 5 years?

(A) Rs. 150
(B) Rs. 165
(C) Rs. 120
(D) Rs. 200

88. The Sepoy Revolt initially broke out in
(A) Kanpur
(B) Barrackpore
(C) Chitpore
(D) Mirpur

89. Pragyan is associated with -
(A) Missile Technology
(B) Space Research
(C) Oceanography
(D) Climate ~

D-19
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85. “The Story of My Experiments with Truth”
-9 14T Tote

(A) reifE Jerane
(B) Calioftet e (SiaTa
(C) =t il
(D) SR (ara

86. v AT TS 3 : 4 @R ©TT @IS
420 | Y1 76T TG 0T ARG ==
(A) 175
(B) 200
(C) 240
(D) 315

87. 300 BIFE 11% 2N 5 IF W I ?
(A) 150 B ‘
(B) 165 Bizet
(C) 120 Bt
(D) 200 5=

88. iR fRraiea @it e Jom T—
(A) IW4d
(B) IR~
(€) foorlm
(D) F=e

89, ‘AWIT-47 THE @ FERE RawE o
Ie—
(A) Ceieltg o
(B) v Rem
(C) o fem
(D) wIRRie

Please Turn Qver
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90. There are three full containers of mixture of
milk and water and their volumes are in the ratio
7:5:13. The milk and water ratio in these
containersis 2 : 3,47 : 53and 9 : 11 respectively.
If these are mixed together, find the ratio of milk
and water in the new rhixture.

(A) 11:14
(B) 14:17
(©) 9:16
(D) 12:13

91. By selling 100 pencils, a shopkeeper gains
the selling price of 20 pencils. His gain per cent is
(A) 25% ‘
(B) 20%
(C) 15%
D) 12%

92, The First Battle of Tarain took place in
(A) 1192 A.D. '
(B) 1191 AD.
(C) 1205 A.D.
(D) 1206 A.D.

93, The human body consists of
(A) 205 bones
(B) 206 bones
(C) 204 bones
(D) 203 bones

94, The sum of two numbers is 2490. If6-5% of
one number is equal to 8-5% of the other, then the
greater number is

(A) 1079
(B) 1380
(C) 1411
(D) 1250

.D-20

90. 7Y 3R TETE foaitetd fomfo ofef oita I @2
ST TSR SFeiie 71 5 1 13192 #iqufre gy
IR, TR SATS AT 2 1 3,47 : 53 9R9 1 111
wafe g FiFfE e wge G 9y e w e
SRsite foief <G| ‘ '

(A) 11:14
B) 14:17
(C) 9:16
(D) 12:13

91. 100f (1St R @ @wom criseiemig 200
coifSret Rfepe 331 =1 B0 | Ol Fited =6 &
(A) 25%
(B). 20%
(C) 15%
(D) 12%

92, SHIETF-4F 4L Jr&d A
(A) 1192
®B) 1191
(C) 1205
(D) 1206

93, W=I (T2 SIEE AN 2
(A) 205
(B) 206
(C) 204
(D) 203

94. VB TR Ao 2 2490 | I G Y
6:5% S0 85 %47 T 2, ier {2 i
Bl

(A) 1079
(B) 1380
(C) 1411
(D) 1250
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95. The sum of the squares of two positive 95. 7o 4GS <3Sl IR @eEE 100 @t
integers is 100 and the difference of their squares SRR AT AT 28 | S 6w (isiEe F9 ¢
4s 28. The sum of the numbers is (A) 12
(A) 12 (B) 13
(B) 13 © 14
(C) 14
15
(D) 15 : ®)
)
.‘f‘jt " -
96. Cornea is present in the 96. I (I (A W WRFE—
(A) Ear (A) F§
(B) Eye (B) @i4
El():; 1:t(:)sr:-:ach (©)
(D) =rFzal
97. Cactus is found in the 97. WIFOIT-9T (ST WA
(A) Polar Regions . (A) GTF 4=
(g) Desert (B) mﬁ!
(C) Moon ©) B
(D) Ocean
(D) 1"
98. Find the value of: 98. TR Fefa i 2
(243)% %320+ (243)/5 x 321
Toney o3t
®) 9 &) 9
(B) 3" o) 3n-1
(C) 3n~1 (C) 3
(D) 27 (D) 27

Please Turn QOver
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99. Vitamin C is present in
(A) Neem
(B) Lemon
(C) Milk
(D) Carrot

100. Bats navigate in the dark using
(A) Eyes - :
(B) Nose
{C) Echo
(D} Smell

D-22

99, fSHIRA C @ AW «ileT T—

A) fwr

(B) #fewETg
(C) 4

(D) =i

100. 9I7E ] AL-Foi F I ARV —

(A) &N
(B) ar -
(C) ofowf
(D) g
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